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Question Number : 1 Question Id : 8135613041 Display Question Number : Yes Is Question
Mandatory : No

‘Diatoms’ the chief producers in the ocean belongs to group

RNV DAY ESSTOTD EAITFL & VTN BodID?

Options :

Shme moulds
o B eareren

Chrysophytes

s
2‘ \?) = e ™

Euglenoids

2 % QPO o6

Dinoflagellates
ESTBTE,

4. %

Question Number : 2 Question Id : 8135613042 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following sets includes the bacterial diseases?
So8 T365° erBair S DBy TR DeTen?

Options:
Cholera. Typhoid. Mumps

% SOT, SJané. 156 Deew

Tetanus. Tuberculosis. Measles
5 % qsaau"se:&o, £00, e‘.’#%)n

Malaria. Mumps. Poliomyetilies

L 0T8T, (156 Deen. T'Dawr 8D

Diphthenia. Leprosy. Plague
e €900 T°N), So?o :rp, Felab) :f&é

Question Number : 3 Question Id : 8135613043 Display Question Number : Yes Is Question

Mandatory : No

The given statements describe a group of organtsms. Which of the following group 1s referred here?
(1) Instead of a cell wall they have a protein rich pellicle making their body flexible
(i) They have 2 flagella. a short and a long one
(it1) They shoe mixotrophic nutrition
(iv) They are comnecting link between plants and animals

B a@_y‘b T 2V dArFod B0t S8 TG’ ) DArre P e $9A dotody?

() O Btro Snssm ucworr 2038 vl whs T8 o Tod Qﬁéo‘:}uc‘. Ra(d Sgcﬁnn&m
(i) 88 TOTRY LGS ThYTR &) Totd STEPN Kol
(i) 9 Qogedo A" Tiden b8 oo
(I¥) ) 00808 BoBIYVE T VYW
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Options :

Dinoflagellates
: EST BT

Slhime moulds

2 % 200 eareren

Desmuids and diatoms

i CoiTreioe) Sdai E.‘.foééw

Euglenoids

4 WQZJ"GJ)C%.‘D

Question Number : 4 Question Id : 8135613044 Display Question Number : Yes Is Question
Mandatory : No
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Match the following plants with their modified roots?

Column - I Column-II
(a) Vanda (1) Pneumatophores
(b) Rhizophora (1) Chlorophyllous
(¢) Viscum (111) Nodular roots
(d) Taemophyllum (1v) Haustorial roots

(v) Velamen roots

B D80y g o T D ErredTvd 2d Baod?

58 - 1 3600 - 11
(a) Jrole (1) ?Sfo;ﬁga
(b) p&'To (i) rd0INS0
(c) Z)'A)bo (ii1) &"Gaden o) S
(d) &JcwrdYo (iv) PO
(V) DS DK

Options:
1 ¢ (a=v),(b—i),(c—iv),(d—ii)

5 u Ca=il), (b—ii) (e—~v),(d=1i)

2w (a—iii),(b—ii),(c—i),(d—iv)

4 % (a—iv),(b—v),(c—iii), (d —ii)

Question Number : 5 Question Id : 8135613045 Display Question Number : Yes Is Question
Mandatory : No
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Achlamydeous. cymose wflorescence. with many male flowers arranged around a single

tricarpellary female flower is a characteristic of

2028 Birdo, D3\B DY) DTG0, 63 A YL 28 GOV G¥ B iy Bk

00 Gol: YA Da"isroo et

Options:
Cymule

1.“1‘ 36

Cyathium
, o PairdoDo

Hypanthodium
2 % OIS Eobo

Verticillaster
S8R0
4. 4 25 ™ 2

Question Number : 6 Question Id : 8135613046 Display Question Number : Yes Is Question

Mandatory : No

Identify the wrong statements regarding past-fertilization development?

DVBECEToBE DIYBS” PBADIA 57 J°5(0”

Options:

The ovary wall develops mto pericarp

| % 900303 HE DVSITIT AR

The outer integument of the ovule develops into tegmen

5> DeDH® BoEESto ods D2y SHBorT DAH
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The ovule develops mto seed
3 % ©oGo DBDorT DA

The ovary develops into fruit

4 % 902000 DVOTT AT

Question Number : 7 Question Id : 8135613047 Display Question Number : Yes Is Question
Mandatory : No

Nothing lives forever. but life continues. What does it mean?

B o ‘F‘%‘Sén S, 5°) EDBo S AR, 9drT

Options:

Nothing can produce without death.
|y BITIB DB e3yd T

Death has nothing to do with the continuation of life.

5 % B0 EAFAErIS ©°Y) IO Dad T

Older die but new are produced due to reproduction
, o TO6 IS E86 DBB\Q S DEDBB

Parthenogenesis 1s must for sexual reproduction
028 2V0 VIB Tohs DBBNS S0V

4, %

Question Number : 8 Question Id : 8135613048 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Mandatory : No



AP EAPCET 2021

Chasmogamous and Cleistogamous flowers are seen among the following except

A :386‘6‘1 b.usbué‘s D.‘b;é o Q)a"bw 0050 Rodyd Vodir( ‘Q)a“_)w 3}
:ansl,
Options:

Viola
| % SO

Commelina

" §0) O

Question Number : 9 Question Id : 8135613049 Display Question Number : Yes Is Question
Mandatory : No

Arrangement of nuclei in normal dicot embryo sac is

BLOY D2 DokE B0’ Sogsre BS

Options:
1 8 2+ 3+3

2. 83 F &
3 dF+F4+2
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Question Number : 10 Question Id : 8135613050 Display Question Number : Yes Is Question
Mandatory : No

Select the correct sequence of Embryogenius in Dicots?

ALOV Dareds” Dot 2DD0S° GIL AIS), VOV SR $00?

Options:
Zygote — Globular — Heart shape — Proembryo — Mature Enbryo
Ro0sg Dazo — FvmseGo — TBAIFS"Go — DB Dotio — DY Doko

Mature Enbryo — Proembryo — Heart shape — Globular shape — Zygote
DS Dotio — DA Dotio — HEBAIrsGo — Hvs o — Voakg Do

Globular shape — Heart shape — Proembryo — Mature Enbryo — Zygote

2 X Av"s 0o — TyB0Irs*Go — DB Dokio — RN Sotio — Vo0ING Do

Zygote — Proembryo — Globular shape — Heart shape — Mature embryo

, o Po08E Dazo — PE Doto — Hvs o — PyBAIrsGo — DY Dotko

Question Number : 11 Question Id : 8135613051 Display Question Number : Yes Is Question
Mandatory : No

APG 1s a system of

APG 95 bésdez SIS A DotroBoDA?

Options:
Artificial system
85 5868 J{OD

1. %
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Natural system
DIPR HOSCE DD
b4 0 @

Phyvlogenetic system

56 D5 HOSE 355
3.v "0 o E

Chemotaxonomy
GBI OD HBSC FT=No
4. % 0 <

Question Number : 12 Question Id : 8135613052 Display Question Number : Yes Is Question
Mandatory : No

Identify the labelled parts 1,2 ,3,4 in the below
diagram of transverse section of an Ovary?

S0 RS VT30 WEES Do’ 1,2 3,4
O HBotsod”?

Options:

1 —Ovule. 2 —Locule. 3 — Placenta. 4 — Ovary wall
, | —®oco. 2~ Dwo. 3 — OGP g-'ao. 4 — evo30 B

1 —Ovary wall. 2 — Placenta. 3 —Locule, 4 — Ovule
s

1 —evordod BE. 2 — 0G| Fdo. 3 —Dwo. 4 — oo
2.V @

| —Locule 2 —Ovule. 3 —Ovary wall. 4 —Placenta

- | —Dwo. 2 —evocto. 3 —evordod HE. 4 — 0GR g"éu

1 — Placenta. — Locule. 3 — Ovule. 4 — Ovary wall

.
| — ol g":{:n. 2 —Deo. 3 —evotio. 4 —evor=Bod HE
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Question Number : 13 Question Id : 8135613053 Display Question Number : Yes Is Question

Mandatory : No

Which of the following is not a Prokaryotic organism?

BD D) D) TOS” Sods PO ED 5°AH?

Options:

Bactena
wé&o&r

Cyanobacteria

2003 ersdoir
. =

Mycoplasma

, EFITY
o

Spirogyra
4. R

Question Number : 14 Question Id : 8135613054 Display Question Number : Yes Is Question

Mandatory : No

The non-membranous organelle found in Prokaryotic cell

So@s QPO SETUS” Gol B Bard SeTolio

Options:

Ribosome

G P 0e5°D'o
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Mesosome

5 % I J'o

Chromatophores

L . B8

Plasmid
5‘2:&6.
4.% S

Question Number : 15 Question Id : 8135613055 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): The cellular pool provides all the necessary materials for the structure and
functions of a cell
Reason (R): For the survival of a cell. steady state withun the cell 1s necessary

N3y8o (A): S8 DTN 563 TS, DR AEBEBEAS WOV B)
‘JB’E‘U&J 90QotA
5°6130 (R): S0 RE §¥0 S8’ DwC: S ©I6o

Options:

Both A and R are correct

i o A H08030 R e Gokr DO

Both A and R are not correct

5 A 08030 R e Sodr DTAD 57

A 1s correct but R 1s wrong

3 x A VOAA 57 R DB

4, ®
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A 1s wrong but R 1s correct
A 2857 5° R 2898

Question Number : 16 Question Id : 8135613056 Display Question Number : Yes Is Question
Mandatory : No

Spindle formation can be disrupted by exposing cell fo the microtubule poison?

) TOS0R $ob DITS ABBARIEo TT" SorTroen DbyEdor Baiidy?

Options:

High concentration of 0,
DS TGS G eébaa.s

Vitamn A

L« DS A

Cholesterol

Sagé

Colchicine

Question Number : 17 Question Id : 8135613057 Display Question Number : Yes Is Question
Mandatory : No
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Select the false statement?
(1)  Living process is a constant effort falling into equilibrium
(1)  Energy can enter and leave a cell
(111)  Matter can enter and leave a cell
(1v)  Metabolic pathways are mnterlinked

BD DD TS (RS” VB TE(o TG IB?
(1) 23 dorde DBoBG Sya AODAT ol :amwgaa BERD
(i) 38 00e5°8 DDTotitio BOKIL DeVSELO 2EMHA
(i) DEGo S£2085°8 HIFordtio BAL DD VAN
(iv) 23805 Hore w8 IS 286 Dotroo £kt
Options:
(i) only
1w () 2@

(iv) only
, x (iv) 3¢

(i) & (iv) only

(ii) only
4 % (ii) o0

Question Number : 18 Question Id : 8135613058 Display Question Number : Yes Is Question
Mandatory : No

The dendrochronology 1s based on

Col S oz A BE-HEO

Options:
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Number of medullary rays
. O G200 Vosdy

Number of annular rings

08 Jwaire '&)na,)'s
2.¢ =

Number of cambial nngs
" :Jwa,5 SETHY Swalre Doy

Number of vascular bundles

4 % T IS™ oTw Voddy

Question Number : 19 Question Id : 8135613059 Display Question Number : Yes Is Question
Mandatory : No

A0
; : VAR ) 3
Label the parts 1,2, 3, 4 of the Lenticel structure g’ 1& f'i.::ﬂ:’rl\ )
! “‘ 1 3D ".,‘:'I'"
shown in the figure? 2 l.q.'m ¢ .l
¥y ." ) ey 1 l\
J'!:f:l !mzt: ::‘T_".:f‘ 4
D08’ Brad Trodded Qwéﬁoeﬁ‘ 1,2,3,4 'ﬁi":‘: STRETS !.!
MO X BT s‘
PO 8otiod? [ O SEAOY A .

Options:
1 — Epidernus. 2 — Complimentary cells. 3 — Cork cambium., 4 — Secondary Cortex
, |- Bhlo. 2-0opes swen, 3 -Bo® Qe SerdP. 4 - BBob Soy Lo

| — Cork cambium. 2 — Epidermis. 3 — Complimentary cells, 4 — Secondary Cortex

| — B0t Da;*aé S0, 2 - err| ). 3 - VoPOS ST, 4 - éséo:b H)00
2. %
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| — Complhimentary cells, 2 - Secondary Cortex. 3 — Epidermis. 4 — Cork cambinm

3.

| -Ropds stren.  2-A(dob Ju o, 3- EPr| $0) 0. 4 — Bocd e SErd?

| — Secondary Cortex. 2 — Cork cambium, 3 — Comphmentary cells. 4 — Epidermis
Tla ABOD d) Lo, 2 - Botd el SETSP, 3 - VoPOS ST, 4 - | )0

Question Number : 20 Question Id : 8135613060 Display Question Number : Yes Is Question

Mandatory : No

Identify A. B and C in the given diagram of shoot apical
meristem”
Bridd D PsTod e 3@?&5 Snreorod” A B, C o
rBotd0l’

Options:
A — Leaf primordium. B — Axillary bud.
g A - D8 edo. B — B33 2.

A — Leaf primordium. B — Axillary bud.

5 A — D8 e6o. B — 39 200
A — Shoot primordinm. B — Axillary bud.
5. A — 0s7oc e36(0. B — 83 w06,

A — Shoot primordium. B — Apical bud.
A — Dseol edfo. B - 83 awd.

C — Vascular bud
C — o ¥s2Dons) 2l

C — Vascular tissue
C — T°¥S° S0

C — Vascular tissue
C — Tr¥s® S0

C — Vascular tissue

C — or¥s° S0
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Question Number : 21 Question Id : 8135613061 Display Question Number : Yes Is Question
Mandatory : No

Select the correct statement with gymnosperms?
DBy Derwsd Vowodold VOGN T*Sfo?

Options:

They have sieve tubes and lack phloem fibers
QD PO TV S50 HoBoIN g Smre TG S0t

1.%

They have albuminous cells and lack compamion cells

& op wwaa)é:) SETV 59011)06&)2&3 S0B0D DIPSETE &5 ot

They have albuminous cells and companion cells
& e::wazba‘:fs STV 001D VITSETLD SQO&DQ&J&)

They lack companion cells and have vessels

= » DIPEETRD €5 2ot B TPE) VPO sgmmm

Question Number : 22 Question Id : 8135613062 Display Question Number : Yes Is Question
Mandatory : No

Secondary succession fakes place on / in

BLBODH A0 o820 DB

Options :
Newly cooled lava
| OPTT BVRGED SUD O\ED DB

1. %

Bare rock

, 5 ) 3 pB%0
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Degraded forest

B @05‘3‘5&1)
- B 4 =

Newly created pond

A% g?ﬂ" bﬁ)d’.?\‘) 'tbd"n})h

Question Number : 23 Question Id : 8135613063 Display Question Number : Yes Is Question
Mandatory : No

During ecological succession

39663 MokloG 9SS’ 2878

Options:

The numbers and types of animals remain constant

" 200DV Do, BSADV Edorw G0t
1.

The changes lead to a community that 1s in near equilibrium with the environment and is

called pioneer community

&?Cb:)vbl LG w8 NG, :JSSQ.W AT NS GG &«‘\‘)e)_ 3&.’0560 ‘&o&?-ﬁl
R @ 0

ol bﬁ_‘)ﬁ)’)m. A é‘ﬁoﬁ oo L90trd)

The gradual and predictable change in species composition occurs in a given area

L o S DB%08" SAPIBOT 2800 VLRI Gilroiiio ArEHeD 26fids

The establishment of a new biotic community 1s very fast in its primary phase
4w D62 8 B0l w8 §S 43 278 D6 yGto SriorT 2o

Question Number : 24 Question Id : 8135613064 Display Question Number : Yes Is Question
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Mandatory : No

The first 5 C dicarboxylic acid in Kreb's cycle which 1s used in nitrogen metabolism is
gD d58006" 0aIrDS, 55y S0a008'd 5 € 5043 a5ty 3\08 uive D67

Options:
OAA
OAA (as“_)es‘ 90835° 00

Citric acid
. S0

a — ketoglutaric acid

o — S e85 S0
3.V - i

Acetyl coenzyme A

4 x D06 EdoF A

Question Number : 25 Question Id : 8135613065 Display Question Number : Yes Is Question
Mandatory : No

The first stable compound formed in €, plants

Cy 2008, 08" D6E 2GS 60D Do

Options :
Phospho glyceric Acid

% AR08 e

Pyruvic acid

5 % DETDS es0A0

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Oxalo acetic acid
e.ssbé" LIS e300
3.+ =

Succinic acid

4w P3D8 e20aw

Question Number : 26 Question Id : 8135613066 Display Question Number : Yes Is Question
Mandatory : No

‘Lock and Key' hypothesis of enzyme action was given by

DoBD0 WO A8y B0 Sy — B¥o B VBLIIW POFBeDBG

Options:
Fischer
| v DR0

Koshland
, » SQawrol

Buchner

2 X ws‘lé

Kuhne

4.8 B

Question Number : 27 Question Id : 8135613067 Display Question Number : Yes Is Question
Mandatory : No
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During Z scheme electrons excited by absorption of light in PST are transferred to the primary
acceptors and therefore must be replaced. The replacements come directly from

7 - 903808" PSI 5700489 (irorstio $v 6320 JuTSew TGS dogS e
T BHTON. BotSY & JUSHV HO AT B Aol HWd?

Options :
1 % NADP

, % ATP

PS 11

5.4 S*odd é}s&ﬁg —f]

Water
4. % DS

Question Number : 28 Question Id : 8135613068 Display Question Number : Yes Is Question
Mandatory : No

Identify the labelled parts as 1,2, 3,4, 5 of the Water movement in a leaf shown in the figure?

306 D108 BPHY D08’ N 0o AI0g) 1,2,3,4,5 &ty Mboted?

Options:

R
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| — Palisade. 2 — Guard cell. 3 — Xylem. 4 — Phloem. 5 — Stoma
| — ot 0y Se3w0. 2 - 65 Stdo. 3 — . 4 - J'08 S62rv0. 5 — DY Boio

| — Guard cell. 2 — Xylem. 3 — Phloem. 4 — Stoma. 5 — Palisade

. | — 648 S0, 2 — PED). 3 — '8 E02rvo, 4 — DY Gogo. 5 - Rot) 2060 S0
2. 3

| — Stoma. 2 — Palisade. 3 — Guard cell. 4 — Xylem. 5 — Phloem

, |- 0o, 2~ 0w 00 Smarvo. 3 ~ 6L S0, 4 -, 5 - Fiag seerero

| —Xylem. 2 — Phloem. 3 — Palisade. 4 — Guard cell. 5 — Stoma

, o L TEOR.2- TS Seaarwo. 3 — oty )i §mrLo, 4 -~ B8 S0, 5 — 1Y Gogio

Question Number : 29 Question Id : 8135613069 Display Question Number : Yes Is Question

Mandatory : No

Select the correct option that identifies the nature of apoenzyme and cofactor correctly?

' oFD 2B0L AFTELL AEPTR) RO MBS 1T oS Jotsos ot

Options:
Apoenzyme — Protein. Co-factor — Non-Protein
v OTDoBH - NeS. PISGS0 — D'OD 56
Apoenzyvme — Non-Protein. Co-factor — Protein

oY JoZD — V'O 8. DS GS0 — DO

Apoenzvme — Protein. Co-factor — Protein

ooz — I'OS. DIFS6S0 — T'OD
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Apoenzyvme — Non-Protein. Co-factor — Non-Protein
oz — IO 8. DS G0 — TOD 56

Question Number : 30 Question Id : 8135613070 Display Question Number : Yes Is Question
Mandatory : No

Study the following statements of plant growth. Choose the correct option?
(1) One single maize root apical meristem can give tise to mor than 17,500 new cells per hour
(if) A cell m watermelon can mcrease m its size up to 3,50,000 times
(1) Growth of pollen fube 1s measured in the terms of its length

(1v) Growth i dorstventral leaf 1s measured n terms of an merease in 1ts surface area

IﬁJJSEIU XDEL S8 DELIVAD t'JGS,SoiJA‘)o 5053505._ STNARERY ocho§ o
i) wgED 3 ef Daraﬁ $rarvod '™ w8 S0 ziude Bod Aotd’ 17,500 58 sren ded.xj‘ma
(i) *udysrosoes” sewen 3,50,000 Bl S0% D0dBATmOS” DALY
() Doirdo DR T g A S e
(i) 9yTe6 Do 2SR T G283V PFLfo DEGUT St
Options:
(i) & (ii) only
;x () & (i) Srgdo

(ii) & (iii) only
5> w (i) & (iii) S°gdo

(iii) & (iv) only
o (i) & (iv) Srgdo

4 @, (i), (i) & (iv)
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Question Number : 31 Question Id : 8135613071 Display Question Number : Yes Is Question

Mandatory : No

Which one of the following sets includes the bactenal diseases?

$od T8S° D HNS erSBODS T(B8 DotioBod) Eotob?

Options:

Chelera. typhoid. mumps
SOT°, BI0NE. (DD

1. %

Tetanus. Tuberculosis. Measles
DD, enzguas%ﬁ?ofa (£05), St

2. % T

Malaria. Mumps. Poliomyelitis

5 SDTOAr, A3GD 0. JDAArIND

Diphthenia. Leprosy. Plague

EHBa3Te, L3, D
4 =% el

Question Number : 32 Question Id : 8135613072 Display Question Number : Yes Is Question

Mandatory : No

Select the incorrect statement with reference to structure of TMV?

TMV o7 E°S Dooot) DOADIE S°A TS0

Options :

The capsid 1s made up of 2500 capsomers
. o Tn& 2500 s abbod SoP Gotodd

AP EAPCET 2021
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RNA consists of 6500 Nucleotides

_ RNA & 6500 © Ar{Sairce &otod
2. % S s

It has molecular weight if 39 x 10° daltons

. i A eorderCo 39 x 10° o ISV

It has central hollow space of 4nm

i 57" 00DEL GG 4nm &5 DBFo GO

Question Number : 33 Question Id : 8135613073 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Dominance 1s not an autonomous feature of gene

Reason (R): Two traits show up equally i the heterozygote's phenotype m codominance

ABy8o (4): werddo ©IB 2.8 2R AVE), M Bod VL0 S
560 (R): D ubgaésoé‘ Qieoasior) 2 cy8| 608" 2 VLT DATHOMT GotTon
Options:

A 1s correct but R 1s wrong
,x A 0B 57 R 2ds7c

A 15 wrong but R 1s correct

5, x AROT@ 5° R 208

Both A and R are correct
3 o A 0Bk R e Sotlr ESTe e

Both A and R are not correct
A 2006030 R 20 Godlr ‘&Qu‘s'):) 5°)
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Question Number : 34 Question Id : 8135613074 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement on Mutations?
GESBICT VD DVotrodo) VBV T°Sfo S°AH JB?

Options:
Results in Alteration of genes
2RAYATRDOS” HICYRD S8R0

It leads to vanation m DNA

, » DNA S DT[N SVBOIV

Alteration in chromosomes results i Aberrations
, Er& o’ Hrdw Hu DDSTeD DByER

Point mutation 1s seen m Phenvlketonuria

4 v DO SEIPBOIrS” Do &8 BIGHL SJyorR

Question Number : 35 Question Id : 8135613075 Display Question Number : Yes Is Question
Mandatory : No

The codon which codes for methionine and also acts as initiator codon

F602 ST MR, WHIFAD B IS ) Ardodd TR 6R) §T

Options :
1. ® UUG

> % UAG

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

3 & AGU

4 v AUG

Question Number : 36 Question Id : 8135613076 Display Question Number : Yes Is Question
Mandatory : No

In Eukaryotes the regulation could be exerted at the following levels, except

Qe8ods 2Hwe” aboedn Gwe” TG

Options :
Transcriptional level
| R Gpdo &5

Processing level
L Sab &F

Translation level
ORI 5F

Untranslated regions

4 9 DBOIN) AT

Question Number : 37 Question Id : 8135613077 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following steps of PCR 1n a correct order?

PCR 03O &3) S5306° 2BED S50 8007
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Amplification — Annealing — Denaturation — Extension
DRGE — 2 VOB DA — DAETDSCR0 — TeAoY

Ll

b

Extension — Denaturation — Amplification — Annealing

) w Tdhod) — IFrdsdre — D6 — 28 HOB PG

Denaturation — Annealing — Extension — Amplification

b DI EFDEGE0 — 26 DOB PG — JehoY — Do

Annealing — Extension — Denaturation — Amplification

, 28000 PR — TéhoRy — DI @DE6E0 — DIGE?

Question Number : 38 Question Id : 8135613078 Display Question Number : Yes Is Question

Mandatory : No

Match the following?
Plants Character Effect
(a) Flavr Savr tomato (1) Vit-A (p) Abiotic and biotic stress
(b) Golden rice (1) Male sterility (q) long shell ife
(c) Basmatirice (111) Bruse resistant (1) Prevent blindness
(d) Brassica (1v) Resistant (s) Eliminate manual emasculation
0B TN BB
Qs e VLo 2o
(a) FO6ROERER | (1) DR - A (p) &3, 09 doverw
(b) worreh 58 ) R Sod{so () dyS Beren o Gotdco
(¢) erid 30 (1) TrOrOR) SRS o™ | (1) Gt ATded
) o (iv) DB () domsdes PR Gofoiio
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Options:
_— (a—ii—q),(b—i—p),(c—ili—r),(d—iv—s)

5> (a=§F=§)b=ili—y)e=ir—plld=iii—r)
3 & (a—iv—r),(b—ili—s),(e~ii—q),(d=i~p)

4 v (a—ili—q),(b—i—r),(e—iv—p),(d—ii—s)

Question Number : 39 Question Id : 8135613079 Display Question Number : Yes Is Question
Mandatory : No

Study the following statement regarding rDNA technology and select the incorrect ones?
(1) Taq polymerase extends the primers using the nucleotides provided in the reaction
(1) Antibiotic resistance genes are constdered as destrable genes m rDNA technology
(1) DNA fragments are separated according to their charge only. in agarose gel electrophoresis
(rv) Transformation 1s a procedure through which a piece of DNA s introduced 1 a host bacterium
(v) To produce higher yields of a desired protein. host cells can be multiplied in a continuous culture
(vi) Downstream processing 13 one of the steps of PCR

tDNA 083586 Rotiotdotd $o6 DELAVR B[00 Basod S06ak RO 28 A ARy Sodt?
() S60" wdy® drBairped erd D08 pugiy TAMRP Gotwod
(ii) rDNA Fro83888" Arg) &3 T35 JFGS aREHVD Towdd 2RV DOAFD
(i) A8E 86 dETERIS" DNA moderen T8 eddo D5do Srdid SdiSadeiody
(iv) D036 401 9 T DNA S08) 2 68800 ersBang’Ds Hdonsun
(v) sdund JB5 ag) e Bbnds wddun smu edd) o 6bed 3dbabiin,
(vi) R s PCR aiwg) a8 &3
Options :

(ii) , (iii) & (vi) only
1 o (i), (i) & (vi) Srgdo
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(i), (iii) & (v) only
5 % (i), (iii) & (v) Socgddd

(i), (iii) & (v) only
3 » (i), (i) & (v) g

(i), (v) & (vi)only
g % (D, (V) & (vi) 2080

Question Number : 40 Question Id : 8135613080 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following steps in plant breeding in an order
(a) Evaluation and selection of parents
(b) Selection of testing of superior recumbents
(¢) Collection of variability
(d) Testing. release. commercialization of new varieties

(e) Cross hybridization among the selected parents
208 © D2DD08° VBB GFL HED S0

(a) DINE, AV JodS

(b) 56690, DTD PXRDATrRS LA HDOLotsto

(c) PGSBS DEBe

(d) HBLotStio, DSV, §& JrdsTw I7(IBS0es

(2) Do BVD 2L A VogsEI

Options:
% @ = (d) = (&) = (c) = (b)

, % (@)= (b)—(d) = (e)—(c)
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3. v (€)= (@) = (e) = (b) = (d)

4.% (€)= (e)—=(a) »(b) > (d)

Zoology
Section Id : 81356168
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes

Clear Response:

Question Number : 41 Question Id : 8135613081 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): Homologous characters are originated from a different ancestor
Reason (R): wings of sparrow and finches are homologous

TGS (A): DRy Q)véssw o) .'I)U"éez.:‘ra:!g LT ac:sabg_rw
s*¢te0 (R): bm‘)s 0S), S0bBain PTeN 0s),e0 :30"&93.3“&35 2990DT VL EITrOER

Options:

Both A and R are correct and R 1s the correct explanation of A
| % A S0Bo3w R a0 Bocr D0 o). R 9386 A $ B0 D566

Both A and R are correct and R 1s not the correct explanation of A
A 08030 R e Godr 20 900d0). R 0938 A S 289008 S0 ST

2. %
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A 15 correct but R 1s wrong
A 20IS 57 R ¥

A 1s wrong but R is correct

s A 005 57 R A0S

Question Number : 42 Question Id : 8135613082 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are wrong regarding biodiversity?
1) Tropics harbor more species than temperate or polar areas
it) Terrestrial biodiversity increases from the equator to the poles
ii1) Pattern of biodiversity should not depend on latitude and species area relationship
1v) Biodiversity exists not only at the species level but also at the levels of biological organization

v) Temperate regions are relatively more constant than that of the tropical regions

B8 Dozoldodd & S0 D HELV WOTY?
) PITY OT G)dForrusel Edotery BS £ rdwd itotray
i) 23d 0 AP 82 Aok GTVIYS IF)EA DDA
i) 252065 Dom wFodo 20605 28 DS VowoTU BTG
iv) 25260 280 gms":a %00t 43 diraio Fra S6% Dol Gotod
v) Gdocered T 28RNty TTIcn HodM 83 Nerd) SBh dotray

Options :

(i), (iv) & (v)only
L (1), (iv) & (v) ared

(i), (iii) & (v) only
5 o (ii), (iii) & (v) Srgdo

(i), (iii) & (iv) only
3w (i), (iii) & (iv) Srgdo
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(i), (i), (iv) & (v)only
4w (i), (iii), (iv) & (v) Srgd

Question Number : 43 Question Id : 8135613083 Display Question Number : Yes Is Question

Mandatory : No

Homeothermy in humans is maintained through

ArDNHAS” e esg“ga :om{%a 2 Do DadooticIdod?

Options:
Warm receptors

| % D6 TITW

Cold receptors
, % BBV T

Thermo receptors

5 0 &R TI°sTe

Negative feed-back loop

4P doea LB DR FS(o

Question Number : 44 Question Id : 8135613084 Display Question Number : Yes Is Question

Mandatory : No
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True symmetry found in an animal which can be divided mto two similar halves by one plane

only 1s

A Tdo 8A 2odd dir Sdif B0 Wor) 0D 8 w8 Bvo Aow) BV
PG Goth) DTS 8 Lrre 201G3 & 907 E)

Options:

Radial

|y D000 IHDo

Spherical

, 5 (0060 e

Bilateral
5 o 555"6}5 :ﬁ“’.&.‘ba

Biradial

in & Do Ergao

Question Number : 45 Question Id : 8135613085 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
Column I Column II
1) Satellite cells a) form myelin sheath
i) Microglial cells b) providing blood-brain barrier
1) Ependymal cells ¢) surrounds the cell bodies i ganglia
1v) Oligodendrocytes d) movements in cerebrospinal fluid
V) Astrocytes e) Phagocytic cells
$00 T 2SH6BG”
6% 1 6% 11
1) &b seren a) 00O e\ o 2)636::'»0
i) 208A0E SrPe b) 6g0 e vb&‘wnl AN
i) D0l S ¢) TG 0B’ SnBSiUR BB
iv) esdF Gol e d) S0y hHaw sedses
V) o8 e) D58 Srrw
Options:

okl (i—c),(ii—e),(iii—d),(iv—a),(v—>b)
, % (i—a),(ii—e),(iii—b),(iv—-d),(v—c)
3 % (i—c),(ii—b),(iii—d),(iv—a),(v—e)

4 8 (i“'a),(ii*9).(iii*d),(iv—~c),(v.—.b)

Question Number : 46 Question Id : 8135613086 Display Question Number : Yes Is Question

Mandatory : No
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Radial symmetry is often exhibited by animals having

SCLOT DESPOD LiPew TG FVoRd VB F0n?

Options:

Ciliary mode of feeding
| x 305000 Tas 2pew

Sedentary nature

o ga‘:wg B0

Aquatic mode of living

5w ROVC LHew

Tadpole mode of feeding
erED'S 688y Len

4, ®

Question Number : 47 Question Id : 8135613087 Display Question Number : Yes Is Question
Mandatory : No

Study the following statements about crustaceans and identify the wrong one?

ER0DD S08 DSLIVR WD, BYYT DEotseIl.d VLT DBotsod.?

Options :

Branchiae are respiratory organs

5 TR ©3aDI" — gPoSad

Cephalic region bears two pairs of antennae
5 % FB(I500S" Botd BBV VY618 0T Gotow
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Coxal glands are excretory organs
b =
i §58 focen &’)eogs eS0T e

Development 1s mndirect with many larvae

2 i DD 650 CoZsrd HBE 20LDB)E

Question Number : 48 Question Id : 8135613088 Display Question Number : Yes Is Question
Mandatory : No

Segments of tapeworm are called

RBHEM Do (0 Ddoc.E e D00COE?

Options:
Cysticercus

?ofb‘:béz)i:
LA

1.%

Proglottides

;v STOE

Scolex

) &5
3.% VGO0

Onchospheres

4 % e:o%‘ﬁ))ojoé_b

Question Number : 49 Question Id : 8135613089 Display Question Number : Yes Is Question

Mandatory : No
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.“1.:-
o>

-
—
\

nf 1
si— [ \!
. - "N 47 Z
In the given diagram of the digestive system of 5 *( ﬂ
earthworm. identify parts labelled as 1,2,3,4 & 5 ¥ _ -‘l 3
sni 4
and select the correct option’ : _ .
19 E{zyr ?‘E’f@
.
QdWAS Tadaw A050 dbdw ded rrey M B
8 @ 19| By
20|
1,2,3,4 & 5 00 8w A3 AT doas 2jE
2
wodoG.?
. 5

Options:
1 - Gizzards. 2 - Pharynx. 3 - Intestine. 4 - Intestinal Ceacum. 5 - Lymph glands

i 1- 0080 RE6AD. 2 -6,  3-dD,  4-GomrodTVeD. 5- 3000 fod

1-Mouth. 2 - Pharynx. 3 - Stomach, 4 - Intestinal Ceacum. 5 - Lymph glands

5 4 Sk, 2-600.  3-dTsalo. 4-oTodTveD,  5-F00R fod

1 - Pharynx. 2 - Gizzards, 3 - Stomach. 4 - Intestinal Ceacum. 5 - Lymph glands
3 @ 1-00Q. 2- a0 26640, 3 - ég%u‘hn. 4 - BoTrodTrveD, 5 - F20% (ob

1 - Pharynx. 2 - Stomach, 3 - Intestine. 4 - Intestinal Ceacum, 5 - Lymph glands
4 % 100 2-&odao. 3-h.  4-GoTodTVRD. 5§00 (Jod

Question Number : 50 Question Id : 8135613090 Display Question Number : Yes Is Question
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Mandatory : No

The first tetrapod vertebrates are descended from

D P8y £PHo Mo F'Y BALA G VSIS BPew BB Borron?

Options:
Osteolepid group of jawless agnatha
" BRATTOE DANTTAITAS DB BIEL T DS BHL AWowd

Ostracodernmu group of jawless agnaths

) esE ) DANTAITIE BodD GSEeD T IS EPHo Hod)
2.8 =

Osteolepid group of jawless extinct fishes

i SBJATTIE DAVEAITIS BoBR GBOEL T D) BHY Aow)

Dipnoi group of extant Osteichthyes fishes

- ) a0 DANEOrIE BB 2o &J) BIEAD BDHY Ao

Question Number : 51 Question Id : 8135613091 Display Question Number : Yes Is Question
Mandatory : No

Birds are glorified reptiles. because the birds evolved from the reptiles and also they share the
characters with reptiles’

D500 B0 18T, JoEBBHIM Do WBRFV ol HBEF0 Botied Jrew
& $08 WORTV VLTV Dot otro?

Options:

Poikilothermic. anammniotic C eggs and epidermal exoskeleton
. DD, GUNCTS otren JoBAIL LG T

=
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Poikilothermic. amniotic C eggs and epidermal exoskeleton
wfg&‘g, GO\ Bolred SOOI ETIPHC), TR

Homeothermic. ammiotic C eggs and dermal exoskeleton

" n gs‘g, eo;_,:o:ro ©oLre SHBALL BB e

Epidermal exoskeleton. ammotic eggs and uricotelism

v EPIT(LC), Fendaew, EONIIPS orren B aford8 6020

Question Number : 52 Question Id : 8135613092 Display Question Number : Yes Is Question
Mandatory : No

Match the following correctly related fo cartilaginous fishes?

Column I Column II
1)  Sphyma a) Sting ray
i1) Torpedo b) Dog fish
m) Trygon ¢) Saw fish
iv)  Pristis d) Electric ray
v)  Scoliodon e) Hammer headed shark

& Sod ::u;,mu"?g WOV VBT 2HH6BE.”?

HER 1 SER 11
) Doy 2) DY ol v B
i) erByE b) JT¢ &8O
i) O ¢) GoDdRY B
V) 2R d) DS B
V) 0ared e) S dBD

Options:
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1w (i—e),(ii—a),(iii—d),(iv—c) & (v—b)

> % (i—¢),(ii—d),(iii—a),(iv-e)&(v—b)
3 % (i—c¢),(ii—a),(iii—d),(iv—e)&(v—Db)
4« (i—e)(ii—d),(iii—a),(iv—-c)&(v—b)
Question Number : 53 Question Id : 8135613093 Display Question Number : Yes Is Question

Mandatory : No

Entamoeba histolytica has

Dotrer Y TS Dotodoed) DBELIHA

Options:
Pseudopodia formed only of cytoplasm

21}9“53“&0 25 DTdo Aoch HTSI DGR
1.v @

Sexual reproduction of primitive type

5 % TS Tohis DB BS 2D

Four parapodia formed from cytoplasm

A3 DoGo Aol T aucsgsa»m»w AN
3.8 P

Regeneration
4 % SDRABNS

Question Number : 54 Question Id : 8135613094 Display Question Number : Yes Is Question
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Match the following related to sexual reproduction in protozoa?

List I

List I1

1) Hologamy

a) Plasmodium

1)  Amphimixis

b) Monocystis

i) Anisogamy

¢) Trchonympha

1v) Isogamy

d) Union of pronuclei of the gamets

JEE TS Pohs DAYB188 VotoBow) Sob T adHEHeC.

b3l OR 1l
) FSED a) &Yoo
i) Doadddyd b) ArSHVD

1) €9 Nodirfio

¢) 2545 Do

V) R Nodtirfio

d) Dagmo T8 odsw svans

Options :

- (i—d),(li—c),(iii—a) &(iv—Db)

> % (i—c),(ii—d),(iii—b) & (iv—a)

s v (i—c¢),(ii—d),(iii—a) &(iv—b)

4 % (i—b),(ii—d),(ili—a) &(iv—rc)

Question Number : 55 Question Id : 8135613095 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?
List I List II
i} - nfjl.ﬂwm " a) Sweat glands degenerate and skin becomes rough
Wuchereria
i) Lymphadentis b) Inflammation m lymph gland
ii1) Lymphoedema ¢) Inoculation
tv) Lymphangitis d) Intlammation in lymph vessel
v) Elephantiasis e) Immense swelling of lymph glands and vessels
S0 TR addted”
U.'g I 0.3: I
1) 653001 Rogod drdo | 1) AEogoen eiodd 160 AT SOy
i) DoEotd b) Fas% dodowd’ DA o)
iif) Doy diker ¢) Sokob
1v) DoroB8R d) Fa00 Tved’ 88 >y
V) Ddododran e) TR0 fochorn 2HBAK) TV SdorT )
Options :

1 % (i—c),(ii—d),(iii—e),(iv—>b),(v—a)
5 #i—¢),(ii—b),(iii—e) (iv—d),(v—a)
3 % (i—¢),(ii—d),(iii—b),(iv—e),(v—2a)

o » (i—¢),(ii—b),(iii—a),(iv—d),(v—e)

Question Number : 56 Question Id : 8135613096 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following pairs of deseases 1s viral as well as transmitted by mosquitoes?
Sob 6" DD PR Hd 97 Trcen WBOkL SR TIT° T B’

Options:
Yellow fever and Dengue

% P DY) &56:: 206030 dnrb5

Yellow fever and Sleeping sickness
DAY 200 oboin VBAGTS

2. %

Elephantiasis and Dengue
5 DVDoBOIRR 2Bt Goridy

Elephantiasis and Sleeping sickness

w DAJDTED BASL VSIBT (O

Question Number : 57 Question Id : 8135613097 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are correct related to typhoid?
1) Typhoid can be confirmed by widal test
1) Typhoid 1s caused by gram positive bactera
tt1) Typhoid bacteria mainly live in the small infestine of man
iv) Typhoid is infected by inoculation

v) Typhoid symptoms are sustained fever. headache. loss of appetite and ntestinal perforation
Branés Notoot) R PSLRVR HBoted.?

) OFoED e 588 B .Dge@"da

1) o 2eld ergBosr do Hroné Skoed

if) ardad D) DS’ HERor BFrané ersdalr A3d00

1v) B0 ATL(TRS T(T° RogdRvod

V) Baronk VSR N0 ol a(bo. SRy, 8D G5 ddo dbatn Dk dogren Dk

Options:

All are correct
| % O DSODW BT,

Except (ii ). all are correct

, o (i) 8y, 20ABRD Ry DBHD.

Except ( iv ). all are correct

L x (iv) 82y, 2oADD o) 2329

(i), (iii ) and (v) are correct

, o (1), (i) 208030 (v) 378> 293D.

Question Number : 58 Question Id : 8135613098 Display Question Number : Yes Is Question
Mandatory : No
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Water conservation adaptation found in cockroach are

&5°Qoses’ DD 206L 0B AETOT D DD?

Options:
Waxy epicuticle, rectal papillae & open blood vascular system

i D08 SH\WAD I, YOITV ROFT0SI0" & BB 05 HRCE (DN

Holopneustic tracheal system. waxy epicuticle and open type of blood vascular system

FSIPE TOTY H(H0, oS S\WAED B & DIy 68 DGR H(BD
2. R 75!-:' !5 @ -) ? e TS i

Opening of Malpighian tubules mnto alimentary canal, waxy epicuticle and rectal papillae
3r\20DD TOge i TVod’ BEXNE Dco, S ErEN BSPBD B
» e RO 08T

Rectal papillae. haemocoel and tracheal system

. DBRTF WT)0LTW, TATVS O T8 TV SIS
4, *

Question Number : 59 Question Id : 8135613099 Display Question Number : Yes Is Question
Mandatory : No

Ventilation movements in cockroach are performed

eS"Qos Do) F(RWOT PG DOB oSecTran?

Options:
During activity

7.4 LRSI G DD

At rest

o DO :cgaes‘ &) DD
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When threatened

. i DG &) DD

All the times
1% ) SFeblen s SIS

Question Number : 60 Question Id : 8135613100 Display Question Number : Yes Is Question
Mandatory : No

Water soluble morganic nutrients get precipitated as unavailable salts n the soil due to

NREG o 06y Faag oot 306'8 w08 oS L BIET VT
0 G0N

Options :
Leaching
1 & DEVDo

Mineralization
DNESC

Catabolism

DD\3

Humification

i msbabéfq.s

Question Number : 61 Question Id : 8135613101 Display Question Number : Yes Is Question
Mandatory : No
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The principle of competitive exclusion was stated by

T30 ISP STrodo DA BB

Options:
G. F. Gause
1. G. F.m

C. Darwin

- & w&S.S

Mac Arthur

8 606
3. % @

Linnaeus

- a;ﬁ'la'i:;fa

Question Number : 62 Question Id : 8135613102 Display Question Number : Yes Is Question

Mandatory : No

Carcinogen present in coal tar is

e b &5° &l 52046 5°6S0

Options :
4 — amno biphenyl
4- dDT BORS

1. %
2 — Naphthyl amines
2 - T R
2 ® = =
3. %
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Nitroso dimethylene

LY’ ZOROS

3, 4 — benzopyrene

1 & B B0E' 208D

Question Number : 63 Question Id : 8135613103 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to ozone depletion in the stratosphere?
1) Ozone found in the upper part of the atmosphere that act as an efficient shield by absorbing
UV rays from the Sun
t1) DNA and proteins of living organisms could not absorb UV rays
1) Ozone gas 1s continuously formed by the action of UV rays on molecular oxygen

1v) Ozone gas 1s more stable
v) Clatoms are related from CFC by the action of UV rays, these Cl atoms act as catalyst to

degrade. ozone molecules

N6 & LD S0 Dotiodol) B0 HSVHLR HBotiol’
) ) TEa0m0 P JOUE' &) L&D Ardd( Aot JeVSE 000G S SErru §amed
i) 2d3)0 DNA 2800 T89S 00’ rd S §aosdy)
i) 8,29 D 8RS’ re d6mrv 130 39 L8 TaIY Aodbo 6310 VYSP Gotod
iv) & T05Y) (o8 Qd@b&
V) ©8u8°rd d6me BoR Su CFC © Aol §65 deArmipw ddg &3 s
DB L8 S LrPU AKNP) 0 B

Options :

(i),(iii ) and ( v ) are correct
;o (1), (i) Sodakwo (v) 2D Dswden

(ii ), (iii ) and (iv ) are correct
(ii), (iii ) 208050 (iv) 28D DELDe
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(iii ), (iv) and ( v) are correct

o s (i), (iv) 08050 (v) 283 Hseden

(i) and ( v) are correct
g % (1) 208050 (V) BJD DD

Question Number : 64 Question Id : 8135613104 Display Question Number : Yes Is Question
Mandatory : No

Phosphate pollution is brought about by

_3°"to3¢5 SPRDD[ORS) S°GEs0

Options:

Phosphate rocks
5 3“:@305 T

Sewage

, x D063 AW

Sewage and agricultural fertilizers
s B0068 A 208ak DI AL D

Automobile exhausts

TIPSO GITTD
4. % 0

Question Number : 65 Question Id : 8135613105 Display Question Number : Yes Is Question
Mandatory : No
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The unpaired cartilages supporting the wall of larynx are

R(EDSS EF(RS BETTmY) By BB G SN

Options:

Arytenoids and Cuneiform

QBTN 5.35.03"53

1. 8

Thyroid. Cricoid and Epiglottis

BoraDE, S5PaNE HBOID &DRITS
2.9

Thyroid. Corniculate and Epiglottis

3 RoraE, 96153566 0800 ﬁmbss

Cuneiform. Cricoid and Epiglottis

f 53533‘53, SsTaE SOOI GDRI(S
4, %

Question Number : 66 Question Id : 8135613106 Display Question Number : Yes Is Question
Mandatory : No

The process in which atmospheric air with 21 % of 0, 15 drawn i and alveolar air rich in €0,
18 sent out 1s called

TE 30008 21 % 8aS 0 O 6y dod) Tak S70d') w6\ dcrg ¢
©BSor &3) T dT(Roticio LA

Options:
Diffusion of gases
| x TOHY DJ2wade

Cellular respiration
5 % Sed ?5‘.235,&1)
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Pulmonary ventilation
L DV DoBTNS

Transport of gasses

s x TEVDV ST

Question Number : 67 Question Id : 8135613107 Display Question Number : Yes Is Question

Mandatory : No

Match the following related to disorders of excretory system?

List I List II
1) Renal Calculi a) Urnec acid and oxalates
i) Glomerulonephritis b) Hemodialysis
i) Uremia ¢) Creatinine
1v) Renal failure d) Diabetes msipidus
e) Inflammation

DiGS {33 LHRBVE WotioBodd $obs TH 280l

01 o1
1) B8, sod a) asrBS esivo HBatn AT,
li) ke’ 3B b) FArEOTOND
1i1) cSorBaoair c) SO
V) 58), g;’:qs:: d) coireita 'a:)ch‘.Ea
e) TOR O

Options:
. o (i—a),(ii—e),(ili—b)&(iv—c)
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5 % (i—b),(ii—e),(iii—a)&(iv—rc)
3 x (i—a),(ii—b),(iii—e)&(iv—c)

4, ® (i—a),(ii—e),(iii—d)&(iv—rc)

Question Number : 68 Question Id : 8135613108 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Renal calculi or kidney stones are hard crystalline structures formed in the urinary tract
Reason (R): Renal caleuli are formed when the concentration of uri¢ acid and oxalates m urine

becomes less

TG (A): a0 Ardod” G 2y8S Joryrren Ao\Eerd) 3y%) D T Ardheded”
U"ﬁ)o otrd.
s0io (R): 0308 5o odako ety mEd Surdeds” dricio Jv 9)5), 5B D6yEa0B

Options:

Both A and R are correct and R is the correct explanation of A
w A 08aiL R a0 Toder D8 9a0dD. R 938 A § D00 D506

Both A and R are correct and R 1s not the correct explanation of A
5, % A 08030 R e Gody 28 ©9003D. R 6938 A § 2809003 D566 576

A 1s correct but R 15 wrong

3 @ A D0 57 R 2B

A 15 wrong but R 1s correct

4% A D057 57 R 20/

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 69 Question Id : 8135613109 Display Question Number : Yes Is Question
Mandatory : No

Match the following?
List 1 List 11 List 111
1) High threshold substances | a) Not at all reabsorbed p) Creatinine
1) Low threshold substances | b) Efficiently reabsorbed q) Glucose
i11) Athreshold substances ¢) Reabsorbed in very little amounts 1) Urea
08 T8N BBNGH0G?
01 011 ORBII
] (4] L+
) edswudod b | a) 80 0 Bod) p) Soireidd

) ooryBos DT b) dudiSodorr DRF a0 Bode) Q) (rsd

) SR DOATTI0S' 2 o
1) 8602 Gard HET L 1) ofrdosr
® Boda)

Options:
1 u A=B—r), (ii—e—p), (iit—a=qg)

2. % (i—a—q), (ii—b—r), (ili—c—p)
3.¥ (i—b—gq), Gi—g—r), (H—a—p)

4 u (i—a=—p), (ii—b—q), (ili—ec—r)

Question Number : 70 Question Id : 8135613110 Display Question Number : Yes Is Question
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Assertion (A): Light meromyosin and Heavy meromyosin are often called regulatory proteins.

Reason (R): The above said molecules have a role in masking and unmasking the active sites on acti,

T8 (A): 308 DEDArHS 20005 16 NEWIFDS VR ST Aabogs BTV DT,
560 (R): ArgS D ) B I wirddo dosacio 6’ Sodaty Hurd Sakced”
G B Y Seraron.

Options:

Both A and R are correct and R 1s the correct explanation of A

- A 008030 R 20 Golr 20 90030). R 938 A S 20900 0906

Both A and R are correct and R 1s not the correct explanation of A

5 % A 2080350 R a0 ot 20 90030. R 998 A S 800008 D366 57

A 1s correct but R 1s wrong
3 % A DB 5° R 2O

Both A and R are wrong

4V,44mmeao¢J"co&5‘Q)

Question Number : 71 Question Id : 8135613111 Display Question Number : Yes Is Question
Mandatory : No
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Match the organ in column I to common name 1 column I1?

Column I

Column II

1) Epinephrine

a) Stimulates in muscle growth

11) Testosterone

b) Decreases in blood pressure

m) Glucagon

¢) Breakdown of liver glycogen

1v) Atrial natriuretic factor

d) Increases heart beat

$08 DES 0D A DAFETo hBor3od”

56 I SR 11
) Qe a) S0kt DAMDEVR &BBHEXHN
i) OYHeS b) 68 aEo Bfot
iii) (rgrd ¢) sTabod’ o 2R MyD)o daud
Iv) ae Jaswdeds s | d) Iy :'030(35 6w o

Options:

o (i—d),(ii—a),(iii—¢),(iv—b)

5 % (i—¢),(ii—b),(iii—a),(iv—d)

3 » (i—b),(ii—d),(iii—c),(iv—-a)

4 % (i—a),(ii—b),(ii—c),(iv—d)

Question Number : 72 Question Id : 8135613112 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Adrenocorticotropic - Releasing Hormone (ARH) excites the anterior lobe of
pituitary gland to produce Adrenocorticotropic Hormone (ACTH)
Reason (R): ACTH stimulates the adrenal cortex to secrete its glucocorticod and

mineralocorticotd hormones

Dyoto (4): IS 505 608 6Daoh 58]0 (ARH) datiriyiod J76(wodsd &da
9500 ¢S 5788 '8 ) A (ACTH) 68136 S0

60 (R): ACTH QA6 o) 00 & 6808 (r8 s8smandy ddaky d6s"

05" aGy Fraed’ & ¢y

Options:

Both A and R are true but the R is not a correct explanation of the A

. o A 20Ba3w R 00 Sodr 283D I R €36 A 38 0BG D6 5°6d

A 1s true but R 1s false
. A DBADAK. 5 R DBADIS 570

Both A and R are false
A 506050 R 20 Sodor DOADAD 57

A is false but R is true
. A RBALAG 5. 57 R DBALAS

Question Number : 73 Question Id : 8135613113 Display Question Number : Yes Is Question
Mandatory : No

What 1s the correct sequence of sperm formation?
BOSSEH A HAD §2°) MDBotdod?

Options:

1. 8
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Spermatogonia, Spermatozoa. Spermatocytes. Spermarids
FOSATS, SETeD, FOSEETLD, 73;)‘5@‘-'565153: SN Y

Spermatogonma. Spermatocytes. Spermafids. Spermatozoa
BOSAT A SET, D6} 6505, 08 T\ S5, FOESTTD
2. =

Spermatids. Spermatocytes, Spermatogonia, Spermatozoa
Ly PETOSW, DGR, SIS SeTen, WSS

Spermatogonia. Spermatocytes. Spermatozoa. Spermatids
, x PSSR, :.‘JJG&GSEQS:), gSETe, oS TGS

Question Number : 74 Question Id : 8135613114 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Generally. a woman does not conceive during the lactation period
Reason (R): The hormone ‘Prolactin’ imitiates and maintains lactation in a delivered woman

TEJ (A): Ferdeor 89 Heds &O@é‘l 008 Ader (16\0 BTy OITTUW Got.

5630 (R): H030 00 évé‘ Tersd 6d 6D o 60130 FeDotse, AoTHe
&y d00B.

Options:

Both A and R are correct and R is the correct explanation of A
1 % A 0BAIL R &0 Todo® D0 ©900AD. R @936 A S 2Deand D56

Both A and R are correct and R 1s not the correct explanation of A

okl A 08030 R e Godir 20 90030, R 0998 A 8 2809008 S0 5°¢0

A 15 correct but R 1s wrong

5 x A VJVG 57 R D057
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A 15 wrong but R 1s correct

A %85°¢0 57 R 0028
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Question Number : 75 Question Id : 8135613115 Display Question Number : Yes Is Question

Mandatory : No

Refer the given flowchart. Identify W, X, Y, Z and select the correct option
$08 Brdwes & @0 2083900, W, X, Y, Z 080 28 Ardotd NPT oBotSol.

Contraceptive method yes
involves physical barriers

no

v
Contraceptive method yes
involvesoral pillstobe  ——»

taken by female
1o

Y
Contraceptive method yes
involves subcutaneous ~ ——»

hormonal implants

no

1]

Options :

W — Depo Provera. X — Delfin.
 Woar ¥

P

W — Femudom.

o W — D& .

X — Saheli.
X — diyd).

do\AB e DA W
B o 5
| W
598 vadore pdabo L
lm
GBS DD ew _—_
sdairfold SO drden —'\L
wavabo
lsﬁu
A0\ DB 8 DA
P |
G008 dovudd L’{ Y
6o Hiabo
‘sﬂm
e, S
A

Y — Cervical cap.

Y — Norplant.
Y - 3263085,

AP EAPCET 2021

Z - MalaD
X-ad0d. Y- Aoey30d el Jurd. Z - e D

Z — Multiload 375

Z = .:uges‘a 375
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W — Mala N. X — Diaphragm. Y — Sahel. Z-CuT
, % Wo Srer N, X - dairQe. Y — 050D, Z-CuT

W — Lippe'sloop. X — Condom. Y —IPill Z — Sponge
e W= 0oWeurd X-&dhew, Y108, Z - Jod

Question Number : 76 Question Id : 8135613116 Display Question Number : Yes Is Question
Mandatory : No

Which pair 1s incorrect?
S08 T°S" DT 2 SEAB?

Options:

Antler in deer — sex himuted
- c&obbeﬁ‘ § Swpen — o DO wEmo

Colour-blindness — X - linked recessive

5 % ég’odéga — X - "n)ZJ"vﬁ;l tﬂm.‘}gé w50

Baldness — X - linked donunance

. W00 — X - dTror) Lo Cd L0
3. ® - 0

Haemophilia — X - linked recessive
FRrodair — X - DirO) ©odds vgo

4. %

Question Number : 77 Question Id : 8135613117 Display Question Number : Yes Is Question
Mandatory : No
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In mice black coat color (allele ‘B’) 1s dominant to brown coat color (allele b’). The offspring of
a cross between a black mouse (BB) and a brown mouse (bb) were allowed to interbreed. What

percentage of the progeny would have black coats?

De0sed Dot HeRY Bor Biro (cr), Swyo ‘B') werdd w0 B0k rGE Godd
@iro (adorl) dswyo b 0808 VEMo YO, 1S WY (BB) QBRVS) 28 Lre. Gofhd
(bb) DPewSS os6e0 OO T DoTred” Jodh Tdo HeVLY Gord DLV Gotrow’

Options:

2« 75%

. % 50%

4. ® 25“/0

Question Number : 78 Question Id : 8135613118 Display Question Number : Yes Is Question

Mandatory : No
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Study the following statements and identify the correct combinations. The correct statements are
1) Multiple alleles can occupy different loci on the same chromosome

1) Two alleles of gene can form three genotypes in a diploid organism

i11) When more than two alleles exist in a population of a specific organism 1s called multiple allelism

n(n+l)

1v) The number of phenotypes that can occur for multiple alleles is given by the expression g

v) A well-known example of multiple allelism is ‘ABO" blood groups

Sof) TR 156 A8A LAV a8 Bakoc.
) o8 Earg' 6d) 36( O'5w 6 WTO¥ ) DSUPR0 Gokra,

i) dad fgas S0 w8 20 A1), Tocd) o8] DSEryL0 Surcd 2R EraroR) J6Y OO,
i) 2’ w8 32‘& £’ Boty Sot) A8 0%00r) ey Gl R LRV o) 5D oy,

+1
iv) Wiy o) NSV ded i Eraod % <t oo @wﬁ:&‘awa.
V) LRV o) dseryus e b Jobd Garireta ‘ABO' 6§ S,
Options:

All are correct
i % ) VSO DTID.

Except (i) and ( iv ) all are correct
, o (1) 08oin (iv) 80y, DHDID o) ©pH.

Except (ii ) and ( iii ) all are correct
5w (ii) 208080 (iii ) 82y, WHDID ) HTHD.

Only (iii ) and (v) are correct
4% SSwo ((iil ) Sodadw (v) o b s Fo b :’og&:a’).

Question Number : 79 Question Id : 8135613119 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following is not a benefit of fransgenic animals?
Sod T°5e5" 2] DBIBY 2oBVPY JVD &EDAT o TIR?

Options:
To produce useful biological products

‘& 25 Vowod DOT°L &H\BS” &DHAT Mo

Testing the safety of vaccines

, % TV s, 2060 To@ ZEBR DOL OO

Early detection of diseases

3 ¢ PRl Tablgbl.l oy 3‘563)@)&‘)3 0otLLS)

Investigation of new treatments for diseases

A Rotodod) §'¢ DB DT Gotidersd

Question Number : 80 Question Id : 8135613120 Display Question Number : Yes Is Question
Mandatory : No

Gene therapy has been successful in curing genetic diseases in laboratory animals through

RAIrATY 2080PVS" ATV IS advf W5y BT DaabSedor™ Sobodwh?

Options :
Use of therapeutic medicines to rectify the defective gene

" DoV EHOIAot) 28 S5 Do) HBBaLLe
1. ¥

Oral delivery of genes

i SEE(T” 2R0(HVR DIFDLO

3.v

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Replacing the defective gene with a functional gene
SOIrGard BRAEDA SATDoSD am5@8 2B 0o

Exposure to X-ray to rectify the defective gene

4 % Soird.rd SARDA X — 0 SO &H03rAo) Sairdodo oIV

Physics
Section Id : 81356169
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 81 Question Id : 8135613121 Display Question Number : Yes Is Question
Mandatory : No
A force *F’ is given as F = Pt ™" + Qt. where ‘t’ denotes time. Then. the unit of *P" must be

same as that of

' erd8. F = Pt + Qt 20s6man F' od werd) ArdY. ‘P’ aog), parndn $od
B HATEFIS DATHAN?
Options:

Displacement

SETIUE

1. ®
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Velocity
FelaPabh

Acceleration
3 % ejsdeaan

Momentum

(5500
sv &3

Question Number : 82 Question Id : 8135613122 Display Question Number : Yes Is Question
Mandatory : No

When a particle moves with variable velocity. which of the following statement are NOT correct?
(1)  Average speed = average velocity
()  Instantaneous speed = nstantaneous velocity

(1)  Distance covered = magnitude of displacement

8 S0 ArD SHANG SERVBIV) VW, & S TG HTNAE A A7
(i)  %oR0 3¢ = DoPB Sridw
(1) B0 T = dge
(i) DO RN Brdaw= gagua HBATEAD

Options:

(. (i) & (iid)

(1) & (11) only
, 5 (1) & (i) 2080

(1) & (111) only
o s (i) & (iif) 2rgd
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4 o (1) & (iii) 20g3o

Question Number : 83 Question Id : 8135613123 Display Question Number : Yes Is Question

Mandatory : No

Two projectiles A and B are thrown from the same pomnt with velocities v and (0.5)v
respectively. If B was thrown at an angle 45° with the horizontal. find the angle with which A

was projected. if 1t 1s known that both A and B have equal ranges?

A 208050 B 093 HENTW 2,8 Dodded) Aol S v Hdaiw (0.5)r ©d drod
RBLEm0N. A 2080k B © g TP dirde. B §3208 45° Sned Dido
Soedd A ang) Tewsto Jod?

Options:

Question Number : 84 Question Id : 8135613124 Display Question Number : Yes Is Question
Mandatory : No
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Three forces of magnitude 6 N. 6N and y72 N act at a V7N

corner of a cube along three edges of a cube. as shown

the figure. The resultant of the three forces is ;

6 N. 6N 208050 V72 N HOAFEFOIT (1) S0P weren
28 AW AI0E) ArY S QT sy Dotié
DLAY" EradL DABWT) 0w, T8O D08 wosd '

6 hi/ A P

. 6N
7] S -

Options:
12 N along OB
1. % OB oot 12N

18 N along OA

, % 0ADdowd 18N

18 N along OC
3 % 0C dotic. 18 N

12 N along OFE

, v OF Dowd 12N

Question Number : 85 Question Id : 8135613125 Display Question Number : Yes Is Question
Mandatory : No

Two equal forces are acting at a pomt. making an angle of 60° with each other. If their

resultant force is equal to 40y/3 N. the magnitude of each force is

Boct) DA e w8 Dothdid) 3¢ 60° Eradnned’ 1 Bosboeozr) ow. T8 s, v
208 60° ond, wE ), B0 g HBATH0 Jod?

Options:
. % 20N

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

, 40N

3 % 20V/3N

. % 40V3N

Question Number : 86 Question Id : 8135613126 Display Question Number : Yes Is Question
Mandatory : No

The angular velocity of a ceiling fan reduces to 50 % after 36 rotations since it is switched off

Assuming uniform retardation. the number of rotations 1t further makes before coming to rest is

B0 35 NS 6D B Aol 36 Bk ST 50 % §elan 36w 8od. D¢6B awes
G203 BRVE X\ Lo, F(R V$\0 AES S5\ 208 AR BEIY) BT BRed?
% )4 Y g0 NOS WAl :

Options:
1.v 12

2. % 18
3 % 48

4_3& 36

Question Number : 87 Question Id : 8135613127 Display Question Number : Yes Is Question

Mandatory : No
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The momentum of a particle 1s numerically equal to its kinetic energy, What will be the velocity

of the particle?

Sea:00 A0S, BI(AAD ABIS Rog(8) SN DA, S AE), i Jod?

Options :

. » Tmis™

5 & 2TET

3 % 3 m.s*

4 % dm.s7!

AP EAPCET 2021

Question Number : 88 Question Id : 8135613128 Display Question Number : Yes Is Question

Mandatory : No

A lawn roller has been pushed through a distance of 80 m by applying a force of 50 kg.wt n

a direction inclined at 60° with the ground. Calculate the work done on the roller.

$9208 60° Snod’ 28 oD Bod p 50 kg. wt werdy HoIrfolo S0 & Fud

80 m Gr6A0 SoDLEHD. oS R 28R D

Options:
. % 30X 1037

, % 40X 10%7
3 % 10X 10°7

4 v 20%10°%7
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Question Number : 89 Question Id : 8135613129 Display Question Number : Yes Is Question
Mandatory : No

A wheel of mass 10 kg and radius of gyration 50 cm 1s rotating at 300 rpm. The rotational

kinetic energy of the wheel is

10 kg @703 S08asn 50 em o ;1“53"2&13 (0 w8 B8 300 rpm & Fdoeren
Babocod) &. Bgaw awg), Faon (1938 dod?

Options :
1 % 625]

, % 10007
3. v 12507

4 % 15007

Question Number : 90 Question Id : 8135613130 Display Question Number : Yes Is Question
Mandatory : No

A wheel of mass 10 kg has moment of nertia equal to 0.1 kg.m?. Then its radius of gyration equals

10 kg @3(0°3 fio 8 w8 ag) acey 2aosaw 0.1 kg. m?, oo Zae a@g:m -

Options :

, % 100 m
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4.v0.1m

Question Number : 91 Question Id : 8135613131 Display Question Number : Yes Is Question
Mandatory : No

Four spheres each of radius 0.05 m and mass 1 kg are placed one at each corner of a square of
side 0.2 m. such that their centres comcide with the corners of the square. Find the moment of

inertia of the system about one side of the square,

28),68 0.05m a'é.ﬁ"gma. Lkg @03 s8A% o fveen 0.2 m Zoadm sBA%
A0 S, TuurD TV 3¢ GoddD. Lo SRR Y, IFT Hoadw
OOZIT &8 S O8], BES] TSI

Options:
| »84x107° kg.m?

2 ® 16 X 10_2 kg.n'l'z
3 % 10 kg. m*

4 % 5.5%107% kg.m?

Question Number : 92 Question Id : 8135613132 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum performing harmonic motion has an amplitude A and period T. The speed

A
of the bob at x = ; 15

A 0% HBDS Ba T 65363 o $8A BIGD Suday’ 6d) w8 vdw'vsAw

A
oaws), 3G x =? .'bg oth?
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Options:

ﬂ:Aﬁ

i B

3m2A

2% T

n'Aﬁ
2T

Question Number : 93 Question Id : 8135613133 Display Question Number : Yes Is Question

Mandatory : No

A simple pendulum s oscillating without damping. When the displacement of the bob 1s less

than maximun. its acceleration vector a , is correctly shown in which of the following figure?

8 LVEVSIN BIEEAD Eomren S8 8. Sos Hvian gvagua:m (1B
Soff 880 60 QD T B0 B3 O Ardotdd HRAW

Options :

AP EAPCET 2021

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



AP EAPCET 2021

3.+

Question Number : 94 Question Id : 8135613134 Display Question Number : Yes Is Question
Mandatory : No

A body weighs 900 gm. wt on the surface of the earth. Its weight on the surface of a planet

whose mass is (1/8)™ of that of the earth and radius is half that of the earth. is

|
ZrD) 608800 D6 18 S LAY 900 gm. wt. ZrD G’ = 3 d080 by
TGS’ forfo &) (T EDOIVAY DA T WEI)

Options:

. % 400 gm.wt

), 450 gm.wt
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3 » 200 gm.wt

4 % 20 gm.wt

Question Number : 95 Question Id : 8135613135 Display Question Number : Yes Is Question
Mandatory : No

The Earth (of mass 6 X 10%* kg) revolves round the sun with an angular velocity of
2% 107" rad.s ™" in a circular orbit of radius 1.5 x 10** km. The force exerted by the sun on

the earth 15

3 (690°3 6 X 10% kg) Aarco eotar 1.5 x 101 km msé“gané“ 3T 6 s5®"
2x 107 rad.s™ Erio s’ Fhorren Saotd) 8. APy 38 Zrdp
oV la A ATAR AT I EY

Options:

. % 27X 10¥N

, % 18X 10 N

21
. » B6X102 N

4 % 15 X102 N

Question Number : 96 Question Id : 8135613136 Display Question Number : Yes Is Question
Mandatory : No
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The speed of sound in an elastic string when it is extended by x m is v. If it 1s further extended

to 3x m. the speed of the sound becomes

8 DOFDE BAG'D Focse x . FABD BAS" D B v. Frodw 3 | &
KAL) B (R A ods?

Options:
1‘ 8 1.22 U

, v 173

3‘ ﬁ 1.44 U

4 % 1730

Question Number : 97 Question Id : 8135613137 Display Question Number : Yes Is Question

Mandatory : No

A flat plate of area 10 em? is separated form a large plate by a layer of Glycerine 1 mm thick.

If the coefficient of viscosity of Glycerme 1s 20 poise, the force requured to keep the plate

1is

moving with a velocity of 1 em. s~

10 cm® DTV () 28 D DS 1 mm Doddw (v Ha69 J6 B DG DVE Aol D
SobwdH6. 09 aig) 3) 68 hrssw 20 ravd, dusd Leom.s™ s
$9odBatnes) 57D LB

Options:
1 = 80dyne

> % 200 dyne

3 » 800 dyne
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4 « 2000 dyne

Question Number : 98 Question Id : 8135613138 Display Question Number : Yes Is Question
Mandatory : No

A block of wood floats in water with (4/5)™ of its volume submerged. If the same block just

floats in a liquid, then find the density of this liquid. (Given density of water= 1000 kg.m™?)

8 B8 828 1000 kg.m™ o $BAS DS’ &oDIY\ B w0BArHANE'

(4/5) 3080 SwINIB. B Be), B2 D0 8 E3008° BRI, OB &8 EB80S”
AD6. 00d & G35 AW, Fold dod?

Options :
. % 1250 kg.m™3

, % 600 kg.m™
5 % 400 kg.m™3

4« 800 kg.m™3

Question Number : 99 Question Id : 8135613139 Display Question Number : Yes Is Question
Mandatory : No

A black body at a temperature 227 °C radiates heat at the rate of 5 cal. cm ™. 571, Ata temperature

of 727 °C. the rate of heat radiated per unit area is approximately cal.cm™2.s7

227 °C 56 08 8y SR D560 B &2 8w 5 cal. em %57 727°C 6 HATE DTV
D0oc. 2,8 A" D36 Bod GAAL TTYT
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- 20
Niss

2 « 80
3. % 250

4 % 800

Question Number : 100 Question Id : 8135613140 Display Question Number : Yes Is Question
Mandatory : No

If R be the universal gas constant then. the amount of heat required to raise the temperature of 2

moles of monoatoniic gas under 1sobaric condition from 0 °C to 100 °C will be:

R 0036 638 oo 00530 BB, A DR b&igmw‘ 0°C Aod 100 °C 36 2
Y © D8 DOATES TV &I A oS Dod G BHVEIN?

Options:
1. % 150 R

, % 250 R
5 % 300 R

4 o 500 R

Question Number : 101 Question Id : 8135613141 Display Question Number : Yes Is Question
Mandatory : No
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Figure below shows a cyclic process abeda. If AQ be
the heat supplied to the system. AU be the change in
mternal energy and AW be the work done by the

system, then which of the following relation 1s correct?

808 00 abeda 8o DD APDRVeB. AQ
[TV élga‘g& %g NODT°RD, AU 0008 uoégé
336" oy, AW 036 3{5% 36 B 5
ArDodHLONE S0 TS A Moo AFHA?

Options:
1. & AQ— AW =0

L« AQ—AU=0

L % AQ+AW =0

4 % AQ+ AU =0

Question Number : 102 Question Id : 8135613142 Display Question Number : Yes Is Question
Mandatory : No

What amount of heat is to be supplied to 4 X 107% kg of Nitrogen at room temperature, fo rise
its temperature by 50 °C. at a constant pressure? (R = 8.3 J.mol™. K™ and molecular weight
of mitrogen 1s 28)

18 adid 56 63) 4x 1077 kg pad X 2360 36 50 °C £ o8, 600"
Sabsedd aa (R =83Lmol™ . K~ &Bosn &2 e rdiw 28)

Options :
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5 30

3 % 4 kJ

Question Number : 103 Question Id : 8135613143 Display Question Number : Yes Is Question

Mandatory : No

Match the following: (where R 1s gas constant)

Column-I Column-II
(a) Molar specific heat of helium gas at constant volume (1) 3R
(b) Molar specific heat of oxygen at constant volume (n) 3.5R
(¢) Molar specific heat of carbon dioxide at constant volume (m) 15R
(d) Molar specific heat of hydrogen at constant pressure (v) 2.5R
Sofd TN &dHGec”
S0 -1 SN -11
(a) 26 RVOITBD 56 oo i) Arwd HIYasw () 3R
(b) 26 0RB0IrEAD 3¢ 888D Taw Ared HITHw (i) 35R
(c) ?gd QOVDOATRN G TG\ & 85\ Arwd :Jag“ga» (iii) 1.5 R
(d) D6 V0B 3¢ FESD Arwb T (iv) 25 R

Options:
, x (a—i),(b—ii),(c—iii),(d—iv)

5 % (a—ii),(b—iii),(c—iv),(d—1i)
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, o (a—iii),(b—iv),(c—i),(d—ii)

2 u Ca—iv),(b—1i),(c—ii), (d—iit)

Question Number : 104 Question Id : 8135613144 Display Question Number : Yes Is Question
Mandatory : No

The propagation constant or angular wave number 1s

D6 RorosA0 Tor Erdan BGor DVoad| BIS DHrDo?

Options:
A

1-&2?!'

A
2 8 m

Question Number : 105 Question Id : 8135613145 Display Question Number : Yes Is Question
Mandatory : No
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A thin prism of angle 6° made up of glass of refractive mdex 1.5 1s combined with another

prism made up of glass of refractive index 1.75 to produce dispersion without deviation. Then

find the angle of the second prism.

1.5 $879% rsan sdAd rad daird Babwdsd 6° ks E'tacio $9AR Hesd
D08, 1.75 58859 Ansan $OAS med’ dolréilebndd HBaws s

SRV SN ANB0L) DSVRAN Tl DEDR0 $DHIB. Wod Toll DS
ahog), 08 S doh?
Options:

1.% 7°

2. % 9°

3. v 4

4, % 9°

Question Number : 106 Question Id : 8135613146 Display Question Number : Yes Is Question

Mandatory : No

In a Young's double slit experiment, the angular width of a fringe 1s 0.2° on a screen placed

Im away. The wavelength of light used is 600 nm. The angular width of the fringe if the
entire set up 1s immersed 1$ a liquid of refractive ndex 1.33 1.

oo 208 DBS HAIrAosS” 1m ArGorT Goldd 86 8 H8 Sl dékeny 0.2° evrr
S8 SE20D6. GO AN 5708 SdariBd 0 600 . Ango HAIT BOS 18
936" 2000908 Hth Eedas DEeny Jod? (Bddw 38393 s 1.33)

Options:
i P IR

AP EAPCET 2021
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4, % 0.3°

Question Number : 107 Question Id : 8135613147 Display Question Number : Yes Is Question
Mandatory : No

: +q . i . .
Two pomnt charges I3 and —q are placed at a point (@, 0,0) and at origin respectively. The point

along the x — axis where the electric field vanishes 1s

0ot Do) BT % 0050 —q w0 Do) (a,0,0) Ld0k0 Sredetnd) 3¢ AT
GouSLIETOD. ¥ — B4 Dowd. DAASZEAN I8¢ eeyINYAE & Dot SR8 0l.?

Options:

1;%.)::\}"5(1

X
4. % -

Question Number : 108 Question Id : 8135613148 Display Question Number : Yes Is Question
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Four metallic plates each of area A and separated from
one another by a distance d are arranged as shown in
the figure. What is the capacitance between X and Y? d

. .

261,90 A progn sIhS Tub Sy dewsewy X
wSTrESe) d Arowd’ ©0\wese). ©and X

Sda Y © A6 g&wsb dodd?
Options:
EnA
C===c
(I d
4r
c oA
2. % d
" 2e,A
3. d
3804
4, % 4

Question Number : 109 Question Id : 8135613149 Display Question Number : Yes Is Question
Mandatory : No

The current flowing through a wire depends on time as I = 3t* + 2t + 5. The charge flowing

through the cross section of the wire in time from t =0 to t = 25 15

w8 86 Gr(oe Di3irol xS SoBNp BEreid dogonD I = 3t +2t +5. 84
QGG o ¢ = 0 06 t = 25 SO DSeTotdd Dd:;scréa.‘m

Options:
1 & 22C
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5 % 20C

3 % 18C

4% 5C

Question Number : 110 Question Id : 8135613150 Display Question Number : Yes Is Question
Mandatory : No

The unit of current element 1s

QDENS DITTRVSD AIVE); DO

Options:
1.wAm

=1
2‘%Am

2
3 xAm
4 %A m?

Question Number : 111 Question Id : 8135613151 Display Question Number : Yes Is Question
Mandatory : No
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A disc of radius R rotates with a constant angular velocity w about its own axis. Surface charge
density of this disc varies as @ = ar® where v’ is the distance from center of the disc. The

magnetic field intensity at the center of the disc 1s

R 8w SRR 28 Do G o4 D63 1 Erdo s Sl 8. &
DPy0 QwS), G0 B3 Fodd a = ar’ RS G T OO HTo Sothdd Aot AT,
003 HTy0 Soddn I¢ LAY 08 £ )

Options:

. 8 poawR?

Uo@WR?

2.+ 6

HoaxwR?

3, % 8

Ho@wR?

4. % 3

Question Number : 112 Question Id : 8135613152 Display Question Number : Yes Is Question

Mandatory : No

A solenoid having 2000 tums per meter has a core of area 4 em? and relative permeability

220, It carnies a current of 5 A. The which statement among the following 1s true?

w8 Traé ibcosh 2000 ok, 4 em’ Progan Hdao FdY SIS 220 $BA
63) 6. @R thot 5 4 DS D00 & 0B TIS" 10 TS[0R AoBotsridwn?

Options:

Magnetic intensity is 10* A.m™*. Magnetic field is 887 X 107 T and Pole strength is 876 A.m

¥ DY) 08 398 10° A.m™, ea¥) 08 £3:50 88 X 107 T, ¢SRS 876 A.m
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Magnetic intensity is 10° A.m™". Magnetic field is 88m X 107 T and Pole strength is 200 A.m

- oY) 08 838 10° A.m™, wah¥) od £ 887 X 107° T, 5t 200 A.m
,

Magnetic intensity is 10* A.m™*, Magnetisation of core is 2.19 X 10° A.m™" and Pole strength is 300 A.m

§ w080 08 838 10* A.m™", 86 wabdodedm 2.19 % 10° A.m™, gyddam 300 A.m

Magnetic intensity is 10° A.m™, Magnetic field is 44m X 1072 T and Magnetisation of core is
219%10°Am™

4w 008 88 10° Am™, w8 S8 tmx 107 T, €6 ecbdyebstn 219 10°Am™

Question Number : 113 Question Id : 8135613153 Display Question Number : Yes Is Question
Mandatory : No

The coupling coefficient of the perfectly coupled coil 1s:
28 VORPY Domd S W) GIVE), KT MESI

Options:
Zero

- BIPOLO0

One
2‘ ‘%ﬁf? &:55

Slightly more than one
. 288 ST°) 50BN SIS

Infinite
4 % OVOBIW
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Question Number : 114 Question Id : 8135613154 Display Question Number : Yes Is Question

Mandatory : No

Current in a coil with self-inductance 2 H is increasing according to [ = (2sint®) ampere.

Amount of energy spent during the period when current changes from 0 to 24 is

[ = (25int?) 008 D560 2 H 200 608 Sicod’ DS 1o DAHA0E.
D[S DT 0 Ao 24 6 A8 DS dod 2Gos” 38 PGYPHBAE?

Options :
1« 4]

2. % 6]

3 % 8]

Question Number : 115 Question Id : 8135613155 Display Question Number : Yes Is Question

Mandatory : No

Alternating Current cannot be used for which of the following?

A.C. D TESFEIB

Options:

Heating

| D Bosoes

Lighting
. T DDA

AP EAPCET 2021
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Electrolysis

5 o DS DFNea0eS”

Generate mechanical energy

4w O3°08S 38 2JoHBOIVLL

Question Number : 116 Question Id : 8135613156 Display Question Number : Yes Is Question
Mandatory : No

The magnetic component of a polarized wave of light 13
B, = (40 x 107° T sin[(1.57 X 10"m™ ")y + wt]) . The intensity of light is

DS 5708 BGorian CB0E), ao:b&buej 29030
B, = (40X 1076 T sin[(157 X 107m L)y + wt]). s°o& &3¢

Options:
1« 19 kWm™?

5 % 3.8 kWm 2

3 % 5.7 kWm™?

4 % 7.6 kWm™?2

Question Number : 117 Question Id : 8135613157 Display Question Number : Yes Is Question
Mandatory : No
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The work function of a metal is 1.5 eV, Light of wavelength 2500 A is incident on this metal

Maximum velocity of photoelectrons is

28 5% 1 HAoabaw 1.5 eV, 2500 A 36oBGAD 0 570D S dnD
DBI20YB00B. T’ g MO ridw dod?

Options :

s u 12210 me™

, » 151 %10%ms™

3 1.104 x 10° m.s™*

4 x 285x10%m.s™

Question Number : 118 Question Id : 8135613158 Display Question Number : Yes Is Question
Mandatory : No

An electron 1s confined by electrical forces to move between rigid walls separated by 1 nm.
The quantized energy value for the lowest energy state is . Given mass of electron =
9.1 X 107 kg and Planck's constant = 6.625 x 107* J.s

1 nm Gr6a B8 SDGEED God Ak DJGB 36)35 20 B3 DB BoeICd
w8 VTS 6:) 6. Lo V[V, 38 Faws S(otisdnw Babed 38 dewd (oS
008307 6.25 X 107 .5, dugd g(o3=9.1 X 107 kg)

Options :
;% 12x107%0 7

5 6% T 3
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s % 6X10718 7

4% 617

Question Number : 119 Question Id : 8135613159 Display Question Number : Yes Is Question

Mandatory : No

o+20V
In the following circuit. the value of £ 1s 200 and I; 1s 2.5 mA. I ‘
. | 120 = 2
[dentify the correct statement: K © < 5kQ
& 806 S00HA0S° f Dend 200 208k I, dewsd 2.5 mA ;
9003, & 08 TG 2B O TE00? z

Options:

Voltage across base-collector junction (Vg) 1s 11V

P G Go-280e5 2o (Vo) 36 STE Jewd 11V

Voltage across base-collector junction (Vg-) 1s 7.5V

, BET6o-2088eb 008 (Vao) G SG& Dewd 7.5V
Li” e

Voltage across base-collector junction (Vg-) is 185V

< % L6o-28063 Vo (Vpe) D6 STS Dewd 185V

Voltage across base-collector junction (Vg) 1s 15V

- I Go-080e Do (Vo) 9 SP& Dewd 15V

AP EAPCET 2021
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Question Number : 120 Question Id : 8135613160 Display Question Number : Yes Is Question

Mandatory : No

The principle used in the transmission of signals through an optical fibre 1s
YT B0 ol VoSTY PIGANVS RAAAIND) ATFSID I&?

Options :

Refraction
SEBHDAD

Dispersion

Total internal reflection
‘r‘b-o’@gnejﬁ ::o‘agam:

3.

Interference
4% ;’3,593568:&»

Chemistry

Section Id : 81356170
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :
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Question Number : 121 Question Id : 8135613161 Display Question Number : Yes Is Question
Mandatory : No

How many spectral times will be observed for a hydrogen atom. when an electron refums from
7% shell to 3™ shell?

TERS HOArm AN 7 S SEf Ao 3 H S5 T Lo 36A BABYD, V) I
DB DB\ ER?

Options:
1. 8 =

> ® 15

3 ¢ 10

4 % 14

Question Number : 122 Question Id : 8135613162 Display Question Number : Yes Is Question
Mandatory : No

If a cricket ball of weight 0.1 kg has an uncertainty of 0.15 m.s™* in its velocity, then the

uncertainty in the position of the cricket ball 1s

0.1 kg aro o) 355 wod aiog), Hriws’ eDINBSEW 0.15 1.5~ 0yt &
?m‘xx}é’ SN LI

Options :

1 ¢ 3.5X% T *m

2 % 35 X 1073 m

3 % L7X 107 m
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4 % L7 X 107 m

Question Number : 123 Question Id : 8135613163 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct statements regarding Balmer series: The wave number of each line in the
. o o i 3 |
spectrum of atomic hydrogen 15 given by the equation v = Ry | —5 — — | where Ry 15 a
n n
1

constant and ny and n, are mtegers.

(1)  Aswave length decreases. the lines in the series converge
(1) The mteger n, 15 equal to 2
(1) The 1onization energy of hydrogen can be calculated from the wave number of these lines

(v) The line of longest wavelength corresponds to n, =3

F ¥ 1
TERD DEATTDY) S Sgtod” A B cwE), Sborf Mo 7 = Ry ( " ) 9
1 2

0800 Tr(0" SRRy, BY)¢ Ry 08 A0S B 1y, 1 L) QPT0S"L). BV,
era06 3688 MotioBot) S0 VIBTVS’ DD HBAN?

(i) 80ori B0 2ehousirid, gmoed Saen co S

() 1y YPToSAW Jevd 2

(ili) & B0 BBoNAT® Mo H-H6ATE0) AHISCE 38D TY) oSy,

)

(1v) ﬁﬁ%l Modggan (0 88 1y = 3 £ VotBotd B

Options :
(i). (ii) & (iii) only
, w (0. (i) & (iii) Sorgd

(1). (iii) & (iv) only
5> % (i). (iii) & (iv) S0

3.v
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(i). (i) & (iv) only
(i). (ii) & (iv) Sorado

(ii). (iii) & (iv) only
4w (). (iii) & (iv) 2@

Question Number : 124 Question Id : 8135613164 Display Question Number : Yes Is Question
Mandatory : No

The correct order for the increasing tomzation enthalpies for the following is:
$088) aLALER Jorrd\L PO BBirn Svo:

(i) 1s°2s°2p°3s?

(ii) 1s"2s°2p°3s’

(111) 1322322;)5

(iv) 1s%2s%2p”

(v) 1s°2s*2p’
Options:

| % (ii) < (iii) < (i) < (v) < (iv)

2 B (ii) < (i) < (iii) < (v) < (iv)
3 (i) < (i) < (v) < (iv) < (iii)

4 x )< (i) < (iv) < (v) < (iii)

Question Number : 125 Question Id : 8135613165 Display Question Number : Yes Is Question
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Which among the following structures does not correctly represent the bonding capacities
(valancies) of the atoms mvolved?

Socs RS o) 8 b“daéefw‘ Lo’ YD) Toth) DOATEVYR ot 5‘&53850

Sy Arotier.d oyt 207
Options :
— T = +
II—-III——H
H
‘| w L -
Fe Fe
N
, % Se
Y 0
O<—N \
3 % OH
0
Vs
H—(C— Si/
Y, O0—H

Question Number : 126 Question Id : 8135613166 Display Question Number : Yes Is Question
Mandatory : No
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Assuming AB 1s an 1onic compound and 1 . 1, are the tonic radii of A™ and B respectively.

The lattice energy of the compound AB is proportional to:

AB 2,8 0IrS R, Y80 BBAKY 1; . 1, 1O SR AT, BT cwg) eolrds
TR ©R0EI AB Do) ¢RA0 g, yis oS 38 0
£9:06’ ArRVT B0 S0t

Options:

4w VT

Question Number : 127 Question Id : 8135613167 Display Question Number : Yes Is Question
Mandatory : No

TR . : +.
The hybridization of the central atom i the species ICl, 1s

ICL, ©aird &° So HOAFEDD) VosbE6to

Options:

372
1 % Sp°d

> & SP
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3. % 5P

4.« SP

Question Number : 128 Question Id : 8135613168 Display Question Number : Yes Is Question
Mandatory : No

Calculate the volume occupied by 2.5 g of water vapour at 250 °C and 1 bar pressure.

250 °C 208080 1 &P6 Dédo 3G 2.5 g NE DB 5o IDOATE

Options :

. % 3L

, % 05L
3 % 1L

Question Number : 129 Question Id : 8135613169 Display Question Number : Yes Is Question
Mandatory : No
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Consider the composite system. which 1s held at 300K, shown m the figure. Assuming ideal
gas behavior. calculate the total pressure if the barriers separating the compartments are
removed. Assume that the volume of the barriers 1s neghgible. (R = 0.082 atm/L//Mol.K)

308 DLANG" BFrHLED 28 R 353‘%} 300K 56 &6 . & .:r'o:m.‘aubl 60 DI
s0A &) & &rdod), AV D6 Bk R EVR FVRRNY YD, TaINFNEN

SUASED DERBVRA E’Jéboﬁot.‘. (E}%Jﬁ" G0 09088880 DBl SoN BSGAN Ti)
(R = 0.082 atm/L//Mol.K)

£

b e - —— -

He Ne Xe
3 L 1 S ko e |assaaus SISl SRR
L35 atm 25 atm 1 atm /
({' rl‘ rf’

Options:

1. =% lLatm

5 ¢ 2 atm

3 x 2.3 atm

4 % 3.2atm

Question Number : 130 Question Id : 8135613170 Display Question Number : Yes Is Question
Mandatory : No

Concentrated HNO4 15 63% HNO, by mass and has a density of 1.4 g/ml. How many nulliliters
of this solution are required to prepare 250ml of a 1.2M HN0; solution?

e A5 63% &rod)SSnr HNO; $8A Gotwr o Fodd 1.4 g/ml v &3)8. 250ml
L2M 3g5pR @rerd) datrd Satows ) M Bug me HNO; & ddirhomd?
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Options :
1 % 18.0

, o 21.42

3 % 20.0

4 % 14.21

Question Number : 131 Question Id : 8135613171 Display Question Number : Yes Is Question
Mandatory : No

50 mL of 0.2 N HCI 1s titrated agamnst 0.1 N NaOH solution. The titration 1s discontinued after
adding 50 mL of NaOH solution. The remaining tifration 1s completed by adding 0.5 N KOH

solution. What 15 the volume of KOH solution required for completing the fitration?

50mL & 0.2N HCl & 0.1 N NaOH & eo#arada0 Sar 50 mL NaOH $90% ddad
0376, AN Vo) 0.5 N KOH s00 S00fomr@. dodd 30BArndnd)

KOH ©03:3°08:0 Qrdtaintis) e5n6a0?
Options:

1 « 10mL

> % 11mL

3 % 12mlL

4 % 10.5mL

Question Number : 132 Question Id : 8135613172 Display Question Number : Yes Is Question
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Mandatory : No
A system undergoes a process in which AU = +300 ] while absorbing 400 | of heat energy

and undergoing an expansion against 0.5 bar, What 1s the change i volume (in L)?

8 337 46D D8NS’ AU = +300. 400 ] &3 383 Fotoehd 0.5 bar © dERFDS
Si@B0rT T 26506, WANBATRALE' Srdoy dug 6 Jos?

Options:
1% 4

Question Number : 133 Question Id : 8135613173 Display Question Number : Yes Is Question

Mandatory : No

Find the AH® for the reaction HEOw] + B?z(g} — HBr{g.] + HOBr, . using:

(g)
Bond energy of 0 — H bond in Water = 463 kJ

Bond energy of Br — Br bond in Bry = 192 kJ

Bond energy of 0 — Br bond in HOBr = 234 k]

Bond energy of H — Br bond in HBr = 364 kil

M) :ba:éﬁmes) A AR Q) LT L0EIWD BidI faasmdéb. 83 QT VR wg
H,0,, + B, = HBr _, + HOBr _, & t6{s) AH° DI T8 otdo.?
A8 80 ¥R08" 0 — H exodo A0S, wo3s 463 kJ
Br, 2209308 Br — Br oo 6lg), w038 192 kI
HOBr 33)¥808" 0 — Br oo 0008, wocs¥$ 234 k]
HBr 20, 90%" H — Br taoto G38), 06538 364 kI
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Options:
, % 655 kl.mol™

, % 598 kI.mol™"

3 « 57 kl.mol™

4 % 192 kI.mol™

Question Number : 134 Question Id : 8135613174 Display Question Number : Yes Is Question
Mandatory : No

When some helium gas is added. at constant pressure. to an equilibrium mixture of 2 S0, @t

Ozlg} = 250; @ which of the following conditions will occur?

DTS’ &) 250, +0y, = 2505, DISFIS DO 20 3¢ §od Dot
® (8) (8) (8) ® @
T SLOIT. & S0 BB HBRBWE’ D HOVD D6\’

Options:

The concentration of all three gases remain unchanged
€3 QU0PED TTAINYY MESB Q700 Bole)

o

Concentration of Sulphur trioxide increases

5. ":ou;é gugbé TES DM

Concentration of Sulphur dioxide increases

- :39.335 GUSNE TTED DA
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The number of moles of oxygen will decrease

o uébazus 0"V Vo SR

Question Number : 135 Question Id : 8135613175 Display Question Number : Yes Is Question
Mandatory : No

Two solutions A and B have pH 3 and 6 respectively. Which of the following statement is correct?

A $38080 B graderen avg), pH S6R 3 28080 6. $ob DS’ A RPIG?

Options :
Solution 4 1s twice acidic than B

_— A TPORQLA B TronaD ST7) chﬁ,}) D V(IO SO

Solution B 1s twice acidic than A

5 B B mrdednd) A Grondn ST°) 880 695 AEIIID SO

Solution A 1s 1000 times more acidic than B

& A ORI B mraondw 5”".1 1000 BLw oBs20TT e #asaya:m SV
3.

Solution B 15 1000 times more acidic than 4

4 % B rdenands) 4 orodndw sT°) 1000 380 QS0 €520 R(EPO00 SO

Question Number : 136 Question Id : 8135613176 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following is used to remove the harduness of water?

S0y D) Yo’ 58 $85°(Y) & DAINGD EDArADESD DB?

Options:
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1 % Caz(P0Oy),

2 % Nﬂ3P04

3 NagPe0,g

4. % NﬂzHPO4

Question Number : 137 Question Id : 8135613177 Display Question Number : Yes Is Question
Mandatory : No

Which among the following property mcreases, as we move down group-I of the periodic table?
360 08 135 Ard &'  dood) Socss) TPY DAL Sekdy 36} & B 3o 88" 87

Options:
Electro negativity
2062 DATS) SS

i

Tonic radms

g 0T DS .'.7"53"2;.‘1»

Melting point
3 % Qb@bé g"’r‘bn

Ionization enthalpy

e90DE6m &)ut:;yb.)
4, %

Question Number : 138 Question Id : 8135613178 Display Question Number : Yes Is Question
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Mandatory : No

Inorganic graphite 1s

VT TS TP T

Options:

1 x BaN3Hg

, o (BN,

3 » SiC

AP EAPCET 2021

Question Number : 139 Question Id : 8135613179 Display Question Number : Yes Is Question

Mandatory : No

What would be the products for the following reactions respectively? (water molecules would

be the expected biproduct)
(1) Sio; +2NaOH =?
(i1) Sio, + 4HF =7

& Brbd SO’ aeyT e B e DD Doye? (I oL L 68y e

D0 GE 0D rRotrd)

(i) Sioy+2NaOH =7
(ii) Sioy + 4HF =7

Options:
. % SiONa & SiOF

2 Nﬂ25f03 & SIF4

. % NasSi0, & SiOF;
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4. % Nﬂszzo? & szOFz

Question Number : 140 Question Id : 8135613180 Display Question Number : Yes Is Question
Mandatory : No

The pH of acid rain water is

I .'bg.':m a30s), pH D ;‘.1.)655 GO

Options:

Between 6 — 7
. 6 —7 .‘&JQS

Between 5.2 — 5.8

iy
5 & 5.2 — 5.8 ody

Between 4 — 5

4—5553655
3. %

4 % <40

Question Number : 141 Question Id : 8135613181 Display Question Number : Yes Is Question
Mandatory : No

(1) Kjeldahl's method is used in the estimation of element?

(1) Which of the following compound can be estimated vsing this method?

(1) ‘bﬂ&)‘i’?é&SoW
(il) & ::ga §6% S :o;‘aséww“ DO EHAITHIEDR

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

wvs*“.ﬁl 9ot DOLK) Eg’ef %@ EDOTHDEIN

Options :



AP EAPCET 2021

(i) Oxygen; (ii) CH; — OH
| % (i) eé')a.-:é: (ii) CH; — OH

(i) Sulphur; (ii) H,S0,

" (i) oens; (i) H,S0,

(i) Nitrogen; (ii) CH; — NO,
5 o (i) d'2S; (ii) CH; — NO;

(i) Bromine; (ii) CH; — Br
2 n @ e5°0S; (i) CH; — Br

Question Number : 142 Question Id : 8135613182 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Tertiary carbocations are more reactive than secondary and primary carbocations.
Reason (R): Hyper conjugation. as well as nductive effect due to additional alkyl groups
stabilize tertiary carbocations.

QBB (4): Dok Bk ;gmﬁ s'ﬁ‘aswojr&u So) 53000 svb“bsvws'w 20008
0308 $OA Goco.

S0m30 (R): 68 67) 6 ddurito Sud $BF B s LHBakw LR,
800d 58 ysLoirdvdy ;a:d:adxmm.

Options:

Both A and R are true and R 1s a correct explanation for A
. % A 208050 R Gocr 08D, 20000 R 96 A & 28g08 DH6w

Both A and R are true but R 1s not a correct explanation for A
, % A 208050 R Gocr 28D, 5O R 038 A & 280D DdGe S
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A i1s true. R 1s false
L A 0BELIS, 50 R 28 520

A 1s false. R 1s true
4 o A R0, 52 R 20GHHG

Question Number : 143 Question Id : 8135613183 Display Question Number : Yes Is Question
Mandatory : No

In sodium fusion test for organic compounds. the mtrogen n 1t 1s converted in to

40\ o v adR) Ydate Ay gn HBE" & vy ves'io PES w
6.

Options:
1 % NaNH,
> « NaCN

3.8 Mg

4 % NH,OH

Question Number : 144 Question Id : 8135613184 Display Question Number : Yes Is Question
Mandatory : No
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The order of stability among the following alkenes 1s:

806 e8], 50 DOS(IH S27D) BeDod

Sgegeqs!

(ii) (iii) (iv)
Options:
% () > (iv) > (i) > (iii)
« (i) > (1) > (i) > (iv)

3 ¢ @ > (i) > (v) > (i)

4 % (i) > (iv) > (i) > ()

Question Number : 145 Question Id : 8135613185 Display Question Number : Yes Is Question

Mandatory : No

In a non-storchiometric sample of cuprous sulphide. with the composition Cuy ¢S. cupric ions are

also present m the lattice, What mole percent of € u?t is present in the copper content of the crystal?

W8 T FOSAIrLS SRR GG DDPTT Q8] Do CitygS. SPEELUER V)
S8 eafren Sree &) 2. A 506 HOArHING’ Cu*" e T dod?

Options:
1 % 99.99 %

, » 88.88%
AP EAPCET 2021

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



AP EAPCET 2021

4, % 18%

Question Number : 146 Question Id : 8135613186 Display Question Number : Yes Is Question
Mandatory : No

If a solution of maltose (molecular mass = 342.3 g.mol™) was prepared by dissolving 72.4 g
of maltose in 1000 g of ethanol. then depression in freezing point of ethanol 1s K.

Given for ethanol. K, = 1.23 K. kg.mol™ and molecular mass = 46.07 g.mol™

724 g Sr¢'E (OdSod = 342.3 g.mol ™) 1000 g © ABIS & 5800 Satrdy SDI
@0 (K = 123 K.kg.mol ™ @@SeS ordafod = 46.07 g. mol™) ®ond o°d
20NBIS Fdo )8 K

Options :

, % 272.74
3 % 46.07

4 % 7240

Question Number : 147 Question Id : 8135613187 Display Question Number : Yes Is Question
Mandatory : No

The half-life period of a first order reactor 1s 60 minutes, If initial amount of the reactant taken

is 50 g. the amount left after 4 hrs. will be

08 DR Sdros 16 A0S BTOWRY 60 QANTeD. R oz HOATHAN 50 g wand,

4 flot)e) SIS DAY TR HBATH0
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Options :
, % 625g

5 o &125g

4 % 125 g

Question Number : 148 Question Id : 8135613188 Display Question Number : Yes Is Question
Mandatory : No

For a reaction, the initial rate is givenas R, = k[4,]°[B,]. By what factor, the initial rate of
reaction will increase if the concentration of A taken 1s mcreased to 1.5 times the original, and
that of B 1s tripled?

28 t30{ ), 002 3 R, = k[Ao]*[B,] ™ @decid®. A 9602 mreiesd 1.5 84w, B
GI08), 8003 TG 3 B SRSt BEBL) §37) AJ) 3E DEOM?

Options :
1 % 4.50

2‘ ) 4 2.25
3 « 6.75

4 % 3.45

Question Number : 149 Question Id : 8135613189 Display Question Number : Yes Is Question
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The emf of the Daniel cell Zn | ZnSO, (0.01 M) || CuSO, (1 M) | Cu at 298 K is E;. When
concentration of ZnS0, is changed to 1 M and that of CuS0, 1s changed to 0.01 M. the emf

AP EAPCET 2021

changed to E,. Then find the relationship between E, and E;.

BDH Arwowdd EAODEY & ohs); emf 298 K o8 .

In| ZnS0, (0.01 M) || CuS0, (1 M) | Cu ZnS0, ig), e 1 M 8o Cus0, e
0.01 M 1 68) 26 2wt emf E, % Ar636. £y S0baty E; © 3065 0 Rotodsian D67

Options:
1 & E, > E,

> % Ey <Ep

3 % E, = E,

Question Number : 150 Question Id : 8135613190 Display Question Number : Yes Is Question

Mandatory : No

Which among the following sols are hydrophobic sols?

BD Brod TOUS' FEIDS TSw DD?

(1) Protem

(1) Gold

(111) Gum

(1v) Fe(OH);
Options :

(1), (i) & (iii) only
;@ (i) & (iil) 283

™
L
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(i) & (iii) only
(i) & (iii) Sra

(i) & (iv) only
3« () & (iv) argd

(ii) & (iv) only
4 o (i) & (iv) 3rgd

Question Number : 151 Question Id : 8135613191 Display Question Number : Yes Is Question

Mandatory : No

Which of the following facts related to halogens 1s not correctly matched?

BHS &GN TS 5 2D VL) DoLBEND PBIT 2 DEBWED TS A?

Options:
A halogen in the hiquid state at room temperature — Bromine

(18 &GS SG BOATDIS’ (0 TSRS — WD

Vi ™

Strongest oxidizing agent — fluorine

Sy DO 38,8063 — D6

Halogen having the highe-gt AHyond dissociation = fluorine

Halogen which has least —ve AH, ; - iodine

4 % OO 0D —ve A jops i SO SRS — aIrdd

Question Number : 152 Question Id : 8135613192 Display Question Number : Yes Is Question
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Mandatory : No

Two compounds X and Y can react with XeF, to form cationic and anionic species
respectively. X and Y can be

X 08050 Y 008 Bochy ) ¥aren, XeFg & 60 serairds Hdak edoirds
P53 M3 :)obmm. X 08w Y SN

Options :
1 » RDF ,PtF;

, % BF;,PtF;
. « CSF,SbF;s

4 v BF; ,NaF

Question Number : 153 Question Id : 8135613193 Display Question Number : Yes Is Question
Mandatory : No

Which of this order. for the property mentioned 1s not correct?
BAD VoD BT 0" DO VBSE?

Options :
Cl, > Br, > F; > [, [Bond dissociation enthalpy]

1 % Clz > Brz > Fz > .[2 [EJO‘Q m;)dg aﬂ'm‘eb]

HI > HBr > HCI > HF [Acidic strength]

5 % HI > HBr > HCl > HF [e3:0 o]

HOI > HOBr > HOCI [Acidic strength]
» HOI > HOBr > HOCI [ eyodn]
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HClO4 > HClO3; > HCIO, > HCIO [Acidic strength]
4% HClO, > HClO3 > HClO, > HCIO [ odn]

Question Number : 154 Question Id : 8135613194 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct sequence representing the order of decreasing magnetic moments of the

given cations,

S0t RI(RER SROITR CIE) ©ALIY 08 ISR RBEVD §X0 &?
Options:

1 anzJ“ s Fa*t= Gt = Wit

> % Ni** > Co** > Fe** > Mn**
3. » Fe*t > Co** > Ni** > Mn*

. Z
4 % Co** > Ni**' > Mn** > Fe**

Question Number : 155 Question Id : 8135613195 Display Question Number : Yes Is Question
Mandatory : No

The complexes [Co(NH;)¢]*" 3CI™ and [CoCl(NH,)s]*" 2C1 have colors respectively

[Co(NHz)g]™* 3C1™ Sobato [CoCl(NHz)s]™* 201" hodiy ¥ Gotbe SARIT

Options:

Yellow and purple
- DY) B :Jcb:)es
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Violet and green
& &O° L0003 Emﬁa

Green and orange

2 % B3SO0 20803 T°0o2

Vieolet and blue
4 % GTT S08akn O

Question Number : 156 Question Id : 8135613196 Display Question Number : Yes Is Question
Mandatory : No

A tripeptide 1s labelled as ‘Gly - Ala - Phe' (One letter code 15 G-A-F). The correct structure of
this tripeptide 1s:

28 bg& ‘Gly - Ala - Phe’ (G-A-F) rr 98¢ SoDeddd. ol 9ngd :Ju"émn

Options :
E j;l’ . /COOI-I
N g N e

I

|
CH, H

/Cﬂz

H,N z—CgHs

[
1. ¢ O

-

H

| I
—COOH

e W L I L W
" | |

|
2. W 0 CEHE H

CH,

H ? COOH

-
N CH, C CH
cu/ . SR, W e ™ .

CH;
| |
0 H
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C<Hs T ﬁ
CH N C CH,
H__‘!N/' \CH{/ \ﬁ/ \?H * & \T/

® 0 CHy4 H

CH, —COOH

Question Number : 157 Question Id : 8135613197 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& 808 z:ScsseS“ &3\D) 0 DB?

CCl4
Bry
> ?
Fe
Options:
CCl,
1 8 Br
CCly

Br

3.
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CCly

Br

CBry

Question Number : 158 Question Id : 8135613198 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction sequence is

) CO/HCI, Anhyd. AICl; /CuCl

> 2
i) [Ag(NH3),]",0H"

iii) Hy0*

BAD AP SO S2050065" DD G D) AT VOES

i) CO/HCI, =g AICl,/CuC]

> 7
i) [Ag(NH;),]",0H"
iii) H;O*
Options:
CHO
. HO
2. ®
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CH,OH
CO,H
3.
CO,H
4. % HO

Question Number : 159 Question Id : 8135613199 Display Question Number : Yes Is Question

Mandatory : No

Aldol condensation does not occur between

987785 ROIVARDND RS VIS I T Brdoew

Options:

Two different aldehydes with @ — hydrogen
@ — TERD (0 Totd D) s w

1. 8

Two different ketones with @ — hydrogen
TL.a TERS BV Totd DD S&°S e

An aldehyde with with @ — hydrogen & without @« — hydrogen
Tl & TERS 60 Tocd 8l w a — TE2S &' 6D
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An aldehyde & An ester

esdrE 20B0KD 06
4. ¢ Pt £

Question Number : 160 Question Id : 8135613200 Display Question Number : Yes Is Question
Mandatory : No

Identify the substrate in this reaction:

S0 TG 2L SEHVND SR80 &7

H,S0,
? > H,C=CH,
443 K
Options:
Isopropyl alcohol

i DTS &30 3555

Methyl alcohol

, % QRS ese) TS

Ethyl alcohol
i &3S ) H°S

n-propyl alcohol

- 2O ese) IS
L. SO )
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